

Office of Labor Relations

22 Cortlandt Street, New York, NY 10007 nyc.gov/olr

Renee Campion
Commissioner
Steven H. Banks
First Deputy Commissioner
General Counsel

Claire Levitt

Deputy Commissioner

Health Care Cost Management

Georgette Gestely
Director, Employee Benefits Program

To: Office of Payroll Administration

All Concerned Agencies

From: Steven H. Banks

First Deputy Commissioner

General Counsel

Date: September 25, 2019

Re: Pay Authorizations for District Council 37

Pursuant to the 2017-2021 DC37 Memorandum of Agreement, attached please find pay authorizations for a 3% wage increase effective 10/26/19.

Attachments

FOR PMS AGENCIES:
THIS ORDER MAY NOT BE
PROCESSED UNTIL FURTHER
DIRECTIONS ARE RECEIVED
FROM THE OFFICE OF
PAYROLL ADMINISTRATION

CBU CODE: 004

UNION: DC 37

EFFECTIVE DATE: OCTOBER 26, 2019 3%

		Hiring	Hired After 10/25/19				Hiring	Hired After	After an Additional 6 months	Incumbent	
TITLE		Rate # 10/25/19	After 6 months A	move into Assistant title	Rate 10/25/19	10/25/19	Rate # 10/26/19	After 6 months	move into Assistant title	Rate 10/26/19	10/26/19
CODE	TITLE	MIN	MAX	MIN	MIN	MAX	MIN	MAX	MIN	MIN	MAX
1000A	Administrative Architect (Non-Managerial)^	\$52,137			\$59,958	\$141,865	\$53,702			\$61,757	\$146,121
1005A	Administrative City Planner (Non-Managerial)^	\$52,137			\$59,958	\$141,865	\$53,702			\$61,757	\$146,121
8299A	Administrative Construction Project Manager (Non-Managerial)^	\$52,137			\$59,958	\$141,865	\$53,702			\$61,757	\$146,121
1005B	Administrative Director of Laboratory (Water Quality) (Non-Managerial)^	\$52,137			\$59,958	\$144,413	\$53,702			\$61,757	\$148,745
1001A	Administrative Engineer (Non-Managerial)^	\$52,137			\$59,958	\$141,865	\$53,702			\$61,757	\$146,121
8300A	Administrative Housing Development (Non-Managerial)^	\$52,137			\$59,958	\$141,865	\$53,702			\$61,757	\$146,121
<u>1000D</u>	Administrative Graphic Artist @@	<u>TBD</u>			<u>TBD</u>	<u>TBD</u>	<u>TBD</u>			<u>TBD</u>	<u>TBD</u>
<u>1007C</u>	Administrative Horticulturist @@	<u>TBD</u>			<u>TBD</u>	<u>TBD</u>	<u>TBD</u>			<u>TBD</u>	<u>TBD</u>
9556A	Administrative Project Director (HPD) (Non-Managerial)^	\$52,137			\$59,958	\$144,413	\$53,702			\$61,757	\$148,745
8300B	Administrative Project Manager (Non-Managerial)^	\$52,137			\$59,958	\$144,413	\$53,702			\$61,757	\$148,745
1007A	Administrative Inspector (Buildings) (Non-Managerial)^	\$52,137			\$59,958	\$141,865	\$53,702			\$61,757	\$146,121
1003A	Administrative Landmarks Preservationist (Non-Managerial)^	\$52,137			\$59,958	\$141,865	\$53,702			\$61,757	\$146,121
1002G	Administrative Landscape Architect (Non-Managerial)^	\$52,137			\$59,958	\$141,865	\$53,702			\$61,757	\$146,121
1003D	Administrative Space Analyst @@	TBD			TBD	TBD	TBD			TBD	<u>TBD</u>
20610	Air Pollution Control Engineer ##, +, +++	\$65,783 \$40,046	¢56 440	¢56 416	\$75,651	\$118,610 \$60,447	\$67,757 \$51,412	¢ EQ 101	¢50 070	\$77,921 \$50,125	\$122,168
20602 20604	Air Poll. Control Eng. Intern *, +++, ## Air Poll. Control Engineering Trainee	\$49,916 \$47,891	\$56,412	\$56,416	\$57,403 \$55,075	\$60,447 Flat Rate	\$51,413 \$49,328	\$58,104	\$58,078	\$59,125 \$56,727	\$62,260 Flat Rate
31315	Air Pollution Inspector +	\$33,933			Flat Rate	\$63,711	\$34,951			Flat Rate	\$65,622
21215,16, 212150	Architect (incl. specialty) ##, ###, +	\$65,783			\$75,651	\$118,610	\$67,757			\$77,921	\$122,168
21205, 212050	Architectural Intern *, ##, ###	\$49,916	\$56,412	\$56,416	\$57,403	\$60,447	\$51,413	\$58,104	\$58,078	\$59,125	\$62,260
06106	Architectural Specialist ##, +, +++	\$78,210			\$89,942	\$118,610	\$80,557			\$92,640	\$122,168
31312	Asbestos Hazard Investigator	\$52,825			\$60,749	\$79,267	\$54,410			\$62,571	\$81,645
20605	Asst. Air Pollution Control Eng. ##, +++	\$55,416			\$63,728	\$83,151	\$57,078			\$65,640	\$85,646
03716, 21210, 212100	Asst. Architect **, ##, ###	\$55,416			\$63,728	\$83,151	\$57,078 \$74,650			\$65,640	\$85,646
91696	Asst. Area Manager of School Maint.	\$72,476 \$55,416			\$83,347	\$106,222 \$93,454	\$74,650 \$57,079			\$85,847 \$65,640	\$109,409
20510 21810,11, 218100	Asst. Chemical Engineer **, ## Asst. Chemist (Incl. speciality) ###, +++	\$55,416 \$51,382			\$63,728 \$59,089	\$83,151 \$75,243	\$57,078 \$52,923			\$65,640 \$60,862	\$85,646 \$77,500
20210, 202100	Asst. Civil Engineer **, ##, ###	\$55,416			\$63,728	\$83,151	\$57,078			\$65,640	\$85,646
22360	Asst. Coord. of Hghwy Trans. Studies	\$72,476			\$83,347	\$106,222	\$74,650			\$85,847	\$109,409
20612	Asst. Director of Technical Services	\$82,008			\$94,309	\$107,770	\$84,468			\$97,138	\$111,003
	(Air Pollution Control)										
20603	Asst. Director of Technical Services	\$82,008			\$94,309	\$107,770	\$84,468			\$97,138	\$111,003
	(Emissions Inventory - Stat. Sources)	*				4 00 4 5 4	457.070			405.040	# 05.040
20310,05574, 203100	Asst. Elec. Eng. **, ##, ###	\$55,416 \$55,416			\$63,728	\$83,151 \$83,151	\$57,078 \$57,078			\$65,640 \$65,640	\$85,646 \$85,646
20710 20112,03782,09517	Asst. Engineer (Accounting) ** Asst. Eng. Tech.(JOP) @	\$55,416 \$36,776			\$63,728 \$42,292	\$83,151 \$47,863	\$57,078 \$37,879			\$65,640 \$43,561	\$85,646 \$49,299
20617	Asst. Environmental Engineer ##	\$55,416			\$63,728	\$83,151	\$57,078			\$65,640	\$85,646
21910	Asst. Geologist	\$55,416			\$63,728	\$83,151	\$57,078			\$65,640	\$85,646
22081, 220810	Asst. Health Facilities Planner	\$57,923			\$66,612	\$86,801	\$59,661			\$68,610	\$89,405
22305	Asst. Highway Transportation Spec.	\$47,891			\$55,075	\$70,457	\$49,328			\$56,727	\$72,571
21310	Asst. Landscape Architect **, ##	\$55,416			\$63,728	\$83,151	\$57,078			\$65,640	\$85,646
20410, 204100	Asst. Mechanical Engineer **, ##, ###	\$55,416			\$63,728	\$83,151	\$57,078			\$65,640	\$85,646
22010,1,2,3, 220100-30	Asst. Physicist (Incl. spec.) ###, +++	\$55,416 \$57,000			\$63,728	\$83,151	\$57,078 \$50,661			\$65,640	\$85,646
22405 22110,05524	Asst. Plan Examiner (Bldgs) **, ## Asst. Planner	\$57,923 \$53,600			\$66,612 \$61,640	\$86,801 \$77,410	\$59,661 \$55,208			\$68,610 \$63,489	\$89,405 \$79,732
22420,05561	Asst. Project Coordinator	\$55,416			\$63,728	\$77,410 \$83,151	\$55,208 \$57,078			\$65,640	\$85,646
22515	Asst. Project Development Coord. @	\$55,416			\$63,728	\$83,151	\$57,078			\$65,640	\$85,646
22502	Asst. Project Manager	\$55,416			\$63,728	\$83,151	\$57,078			\$65,640	\$85,646
22516	Asst. Project Services Specialist @	\$55,416			\$63,728	\$83,151	\$57,078			\$65,640	\$85,646
21511	Asst. Scientist (Radiation Control)	\$55,416			\$63,728	\$83,151	\$57,078			\$65,640	\$85,646
20311	Asst. Signal Circuit Engineer **	\$55,416			\$63,728	\$83,151	\$57,078 \$57,078			\$65,640	\$85,646
80181	Asst. Space Analyst +++	\$55,416 \$55,416			\$63,728	\$83,151 \$83,151	\$57,078 \$57,078			\$65,640 \$65,640	\$85,646 \$85,646
34210,03766,03781, 342100 91355	Asst. Supt. of Const. +++ Asst. Supt. of Const. and Repairs	\$55,416 \$55,416			\$63,728 \$63,728	\$83,151 \$83,151	\$57,078 \$57,078			\$65,640 \$65,640	\$85,646 \$85,646
34208	Asst. Suprvsr. of Electrical Inst.	\$55,416 \$55,416			\$63,728 \$63,728	\$83,151 \$83,151	\$57,078			\$65,640	\$85,646
34209	Asst. Suprvsr. of Mechanical Inst.	\$55,416			\$63,728	\$83,151	\$57,078 \$57,078			\$65,640	\$85,646
21010	Asst. Surveyor ##, +++	\$65,783			\$75,651	\$95,270	\$67,757			\$77,921	\$98,128
21005	Asst. Surveyor Trainee ***, ##, +++	\$55,416			\$63,728	\$67,786	\$57,078			\$65,640	\$69,820
22092	Asst. Urban Designer	\$55,416			\$63,728	\$83,151	\$57,078			\$65,640	\$85,646
31316	Associate Air Pollution Inspector +	\$50,679			\$58,281	\$86,545	\$52,199			\$60,029	\$89,141
21822, 963010, 20, 30	Associate Chemist +, ###	\$43,877			\$50,458	\$115,201	\$45,193			\$51,972	\$118,657
22123	Associate City Planner +, +++	\$71,159			\$81,833	\$115,201	\$73,294			\$84,288	\$118,657
20118, 961710, 20	Assoc. Engineering Tech. +	\$47,577 \$57,125			\$54,713 \$65,604	\$75,866 \$07,233	\$49,003 \$58,830			\$56,354 \$67,665	\$78,142 \$100,150
91416 22508	Associate Graphic Artist +++ Assoc. Housing Development Spec.	\$57,125 \$72,476			\$65,694 \$83,347	\$97,233 \$106,222	\$58,839 \$74,650			\$67,665 \$85,847	\$100,150 \$109,409
92238	Assoc. Housing Development Spec. Associate Landmarks Preservationist ##	\$72,476 \$65,379			\$75,186	\$106,222	\$74,650 \$67,341			\$77,442	\$94,285
92236 22427	Associate Project Manager +, ##	\$65,783			\$75,160 \$75,651	\$118,610	\$67,757			\$77,921	\$122,168
80183	Associate Space Analyst +++	\$65,783			\$75,651	\$95,270	\$67,757			\$77,921	\$98,128

CBU CODE: 004 UNION: DC 37

EFFECTIVE DATE: OCTOBER 26, 2019 3%

Part	EFFECTIVE DATE:	OCTOBER 26, 2019 3%			After an					After an		
T.				Hired After	Additional				Hired After	Additional		
The Content			Hiring		6 months			Hiring		6 months		
Description The Property The P												
22124		T.T. 5										10/26/19
1939 1939				MAX	MIN				MAX	MIN		MAX
Part Campanger Cal Defence Part Pa		•	•									\$118,207 \$98,128
Manual M		·										\$68,219
1965 Demonit Segione 34 1967 1967 1968 1968 1967 1967 1968 1968 1967 1967 1968		. , , , , , , , , , , , , , , , , , , ,				•						\$89,405
285-04-1 285-04-1	20515						\$118,610					\$122,168
1905 Chemis Trainers +				\$56,412	\$56,416				\$58,104	\$58,078		\$62,260
1942 1942 1942 1944 1942 1944 1942 1944 1942 1944 1942 1944 1942 1944 1942 1944 1942 1944	•	, ,										\$89,049
2012 10 10 10 10 10 10 1												Flat Rate
24.14 24.1		•					•					\$109,409 \$109,707
1944 1944 1945		•									. ,	\$59,724
												\$140,660
2002.000000000000000000000000000000000	20215-20, 202150	Civil Engineer (incl. specs.) ##, ###, +	\$65,783			\$75,651	\$118,610	\$67,757			\$77,921	\$122,168
2021												\$72,571
2417 Community Planning Beand Coord				\$56,412	\$56,416				\$58,104	\$58,078		\$62,260
19650 Corp., Pacilitate Natinalared PISA) S95,16 S85,726 S85,726 S85,726 S85,726 S85,726 S85,726 S85,726 S85,726 S85,726 S85,727												Flat Rate
1000.00000												\$62,462 \$85,646
19471-19, 19411-196 Conte, Mong Ante, Sept. +++ 58,54 58,528 58,728 58		, , ,										\$70,989
Section Sect												\$116,633
2949 Climinalist 4, +++++- 27,	34202, 962510-30		\$55,416									\$122,168
2947 Per	34201	, c	\$49,916			\$57,403	\$60,447				\$59,125	\$62,260
2015-0.2015/0.00 Elec Engineer (Ind. appeal, ## ## + \$6,788 \$76,00 \$70,00		· · · · · · · · · · · · · · · · · · ·										\$123,885
2005.00 Entrical Engineering Intern												\$109,409
2002.00000 Electrical Engineering Intern * ## ### \$49,716 \$6,6412 \$56,416 \$7,640 \$60,477 \$7,641 \$86,708 \$89,725 \$85,725 \$85,720 \$87,727 \$87,722 \$87,	· · · · · · · · · · · · · · · · · · ·											\$122,168 \$72,571
2011 Eleminal Engineering Trininee				\$56 412	\$56 416				\$58 104	\$58 078		\$62,260
2071-50.2815 Signifer (Accounting) (CE & S) S65,783 S65,783 S76,861 S67,775 S77,921	•			Ψου, 112	φου, 110				φου, το τ	φοσ,στο		Flat Rate
Post												\$98,128
2011	20915-18	Engineer-Assessor (all specs.)	\$65,783			\$75,651	\$95,270	\$67,757			\$77,921	\$98,128
Engineering Face in Internation Section		· · · · · · · · · · · · · · · · · · ·										\$98,128
2411-00-00-00-00-00-00-00-00-00-00-00-00-0												\$72,571
San Second Engineering Technician Adid (A)OP San												\$122,168 \$78,142
2011 2011												Flat Rate
2010 Eng Work Study Trainee ## \$28,841 \$28,841 \$33,167 \$42,716 \$29,706 \$34,141 \$993/11 Environmental Engineer + ## \$49,867 \$56,782 \$75,651 \$11,810 \$67,757 \$77,921 \$20616 Environmental Engineer + ## \$49,918 \$56,412 \$56,412 \$56,403 \$75,651 \$11,810 \$67,757 \$79,921 \$20312 \$2												\$41,180
2018 Environmental Engineerial, ### \$85,782 \$6,412 \$6,412 \$6,416 \$77,051 \$11,610 \$67,757 \$1,413 \$58,104 \$58,078 \$59,125 \$03713,20121 Estimator (Incl. spees.) \$55,416 \$55,416 \$56,412 \$66,402 \$68,3728 \$83,151 \$57,078 \$58,078 \$58,078 \$66,640 \$60,224 \$60,00524 \$60,0		_										\$43,997
2016 Estimator (Incl. specs.) 58,646 586,412 586,416 587,403 580,477 51,413 58,878 58,878 58,868 50,3713 50,3713 51,413 58,878 58,868 50,3713 51,41	90971	Environmental Control Technician	\$40,887			\$47,020	\$57,984	\$42,114			\$48,431	\$59,724
03713, 20121 Estimator (Incl. specs.) ## \$55,416 \$63,728 \$81,516 \$57,078 \$65,640 20122, 23 Estimator (Incl. specs.) ## \$55,416 \$63,095 \$86,448 \$54,550 \$82,732 06524 Forensic Scientis/COME) \$76,027 \$87,431 \$108,098 \$78,308 \$90,054 81361 Forensic Scientis/COME) \$69,963 \$87,431 \$108,098 \$72,063 \$82,872 91673-75 General Supt. of Construction +++ \$69,963 \$80,458 \$102,577 \$72,063 \$82,872 91737-75 Gen. Sup. of Building Maint, all flidisd)****, +++ \$65,783 \$75,61 \$95,270 \$77,757 \$77,971 21901 Geologist +, ***********************************										•		\$122,168
2012.2 23				\$56,412	\$56,416				\$58,104	\$58,078		\$62,260
06524 Forensic Analysif COME \$52,961 \$60,905 \$86,48 \$54,550 \$82,732 06525 Forensic Scientist (COME) \$76,027 \$87,03 \$10,805 \$90,084 81361 Foresic + \$12,155 \$44,479 \$71,171 \$34,420 \$93,932 342667, 342670 Beneral Supt. of Const. and Repairs \$69,963 \$80,458 \$102,577 \$72,063 \$82,872 91396 General Supt. of Const. and Repairs \$69,963 \$80,458 \$102,577 \$72,063 \$82,872 91673-75 Gen. Sup. of Building Maint.(all fields)##, +++ \$65,783 \$76,851 \$95,270 \$77,663 \$82,872 21915 Geologist Trainee \$47,891 \$55,075 \$95,270 \$49,328 \$56,772 21901 Geologist Trainee \$44,266 \$50,906 \$97,233 \$45,594 \$52,433 22082 220820 Health Facilities Planner \$74,138 \$85,29 \$113,236 \$76,063 \$87,878 22507 Housing Development Specialist + \$55,416 \$63,72e	•	· · · · · · · · · · · · · · · · · · ·										\$85,646 \$85,646
06525 Forensic Scientist(OME) \$76,027 \$87,431 \$108,088 \$70,308 \$90,054 34266,67,342670 General Supt. of Construction +++ \$69,963 \$80,458 \$102,577 \$72,063 \$82,872 91396 General Supt. of Const. and Repairs \$69,963 \$80,458 \$102,577 \$72,063 \$82,872 91673-75 Gene, Sup. of Building Maint.(all fields)##, +++ \$65,783 \$75,661 \$95,270 \$67,757 \$77,921 21915 Geologist Trainee \$47,891 \$55,075 \$95,270 \$49,328 \$56,772 21901 Geologist Trainee \$47,891 \$55,075 \$95,270 \$49,328 \$56,772 21901 Geologist Trainee \$47,891 \$55,075 \$95,270 \$49,328 \$56,772 21901 Graphic Artist + \$44,266 \$50,906 \$97,233 \$45,594 \$52,433 22506 Health Facilities Planner \$74,138 \$85,207 \$113,239 \$57,078 \$65,640 22506 Housing Development Specialist + \$55,416 \$63,728		` ' '										\$89,041
81361 Forester 4 \$42,156 \$48,479 \$71,171 \$43,420 \$49,933 34266,67, 342670 General Supt. of Construction ++++ \$69,963 \$80,458 \$102,577 \$77,063 \$82,872 91396 General Supt. of Const. and Repairs \$69,963 \$80,458 \$170,075 \$77,021 \$77,921 9195 Gen. Sup. of Building Maint, (all fields)##, +++ \$65,673 \$75,661 \$95,270 \$76,767 \$77,921 21915 Geologist + ###### \$47,891 \$55,075 \$95,270 \$49,328 \$56,727 21901 Geologist Trainee \$47,891 \$55,075 \$97,233 \$45,594 \$52,473 22902 Halphay Traisportation Specialist + \$44,266 \$50,906 \$97,233 \$45,594 \$52,433 22915 Helphay Transportation Specialist + \$55,416 \$63,728 \$110,262 \$70,788 \$85,640 22507 Holsing Development Specialist + \$55,416 \$63,728 \$97,173 \$57,078 \$85,640 22507 Holusing Development Spec Trainee + \$45,0		• , ,										\$111,300
		,										\$73,306
91396 General Supt. of Const. and Repairs \$69,963 \$80,458 \$102,577 \$72,063 \$82,872 91673-75 Gen. Sup. of Building Maint.(all fields)##, +++ \$65,783 \$75,651 \$95,270 \$49,328 \$57,727 21901 Geologist Trainee \$47,891 \$55,075 \$95,270 \$49,328 \$56,727 21901 Geologist Trainee \$44,266 \$50,906 \$97,233 \$45,594 \$55,473 22082, 220820 Health Facilities Planner \$74,138 \$85,259 \$113,236 \$70,78 \$65,840 22507 Housing Development Specialist + \$55,416 \$63,728 \$106,222 \$57,078 \$65,640 2506 Housing Development Specialist + \$55,416 \$63,728 \$106,222 \$57,078 \$65,640 2506 Housing Development Specialist + \$43,085 \$49,548 Flat Rate \$44,377 \$51,034 91410, 914100 Illustrator @ \$41,081 \$47,764 \$55,363 \$42,780 \$49,197 90722, 907220 Instrument Maker (Radiology) \$55,416 </td <td>34266,67, 342670</td> <td>General Supt. of Construction +++</td> <td>\$69,963</td> <td></td> <td></td> <td>\$80,458</td> <td>\$102,577</td> <td>\$72,063</td> <td></td> <td></td> <td>\$82,872</td> <td>\$105,654</td>	34266,67, 342670	General Supt. of Construction +++	\$69,963			\$80,458	\$102,577	\$72,063			\$82,872	\$105,654
91673-75 Gen. Sup. of Building Maint.(all fields)##, +++ \$65,783 \$75,651 \$95,270 \$67,757 \$77,921 21915 Geologist , ###### \$47,891 \$55,075 \$18 tale \$49,328 \$56,727 05736, 91415 Graphic Artist + \$44,266 \$50,906 \$97,233 \$45,594 \$52,433 22082, 220820 Health Facilities Planner \$74,138 \$85,259 \$113,236 \$76,363 \$87,817 22315 Highway Transportation Specialist + \$55,416 \$63,728 \$97,173 \$57,078 \$66,640 22507 Housing Development Specialist + \$55,416 \$63,728 \$97,173 \$57,078 \$65,640 22506 Housing Development Spec. Trainee + \$43,085 \$49,548 Flat Rate \$44,377 \$51,034 91410, 914100 Illustrator @ \$41,534 \$47,64 \$55,636 \$42,780 \$49,197 31305 Industrial Hygienist + \$46,010 \$52,912 \$73,124 \$47,390 \$54,499 90722, 807220 Instrument Maker (Radiology) \$47,891 </td <td></td> <td>,</td> <td></td> <td></td> <td></td> <td>A</td> <td>.</td> <td>A</td> <td></td> <td></td> <td>400 ====</td> <td>4.5= 5= 1</td>		,				A	.	A			400 ====	4.5= 5= 1
21915 Geologist Trainee \$47,891 \$55,075 \$95,270 \$49,328 \$56,727 21901 Geologist Trainee \$47,891 \$55,075 Filt Rate \$49,328 \$56,727 27902 Graphic Artist + \$44,266 \$50,906 \$97,233 \$45,594 \$52,433 22082 Health Facilities Planner \$74,138 \$85,278 \$113,236 \$76,663 \$87,817 22507 Holusing Development Specialist + \$55,416 \$63,728 \$97,173 \$57,078 \$65,640 22506 Housing Development Spec. Trainee + \$55,416 \$63,728 \$97,173 \$57,078 \$65,640 2506 Housing Development Spec. Trainee + \$43,085 \$49,548 Flat Rate \$44,377 \$51,034 91410, 914100 Illustrator @ \$41,534 \$47,80 \$47,80 \$47,80 \$49,197 31305 Industrial Hygienist + \$46,010 \$52,912 \$73,124 \$47,80 \$49,197 21206, 212060 Instrument Maker (Radiology) \$47,891 \$55,075 \$70,457 \$49,328 \$56,727 21206, 212060 Junior Chemist @ <td></td> <td>•</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>\$105,654</td>		•										\$105,654
21901 Geologist Trainee \$47,891 \$55,075 Flat Rate \$49,228 \$56,727 05736, 91415 Graphic Artist + \$44,266 \$50,906 \$97,233 \$45,594 \$52,433 22082, 220820 Health Facilities Planner \$74,138 \$85,259 \$113,236 \$76,363 \$87,817 22315 Highway Transportation Specialist + \$55,416 \$63,728 \$106,222 \$57,078 \$65,640 22506 Housing Development Specialist + \$55,416 \$63,728 \$17,078 \$57,078 \$65,640 22506 Housing Development Specialist + \$43,085 \$49,548 Flat Rate \$44,377 \$51,034 91410, 914100 Illustrator@ \$41,534 \$47,64 \$55,363 \$42,780 \$49,197 31305 Industrial Hygienist + \$46,010 \$52,912 \$73,124 \$47,390 \$54,499 90722, 907220 Instrument Maker (Radiology) \$55,416 \$55,075 \$70,457 \$49,328 \$56,727 21806, 218060 Junior Architect@ \$47,891 \$55,075												\$98,128 \$98,128
05736, 91415 Graphic Artist + \$44,266 \$50,906 \$97,233 \$45,594 \$52,433 22082, 220820 Health Facilities Planner \$74,138 \$85,259 \$113,236 \$76,363 \$87,817 22315 Highway Transportation Specialist + \$55,416 \$63,728 \$106,222 \$57,078 \$65,640 22506 Housing Development Spec. Trainee + \$55,416 \$63,728 \$97,173 \$7,078 \$65,640 2506 Housing Development Spec. Trainee + \$43,085 \$49,548 Flat Rate \$44,377 \$51,034 91410, 914100 Illustrator @ \$41,534 \$47,764 \$55,363 \$42,780 \$49,197 31305 Industrial Hygienist + \$46,010 \$52,912 \$73,124 \$47,390 \$54,499 90722, 907220 Instrument Maker (Radiology) \$55,416 \$63,728 \$83,151 \$57,078 \$6,640 21805, 218050 Junior Chemist @ \$47,891 \$55,075 \$70,457 \$49,328 \$56,727 20206, 202060 Junior Defatter @ \$47,891 \$5												Flat Rate
22082, 220820 Health Facilities Planner \$74,138 \$85,259 \$113,236 \$76,363 \$87,817 22315 Highway Transportation Specialist + \$55,416 \$63,728 \$106,222 \$57,078 \$65,640 22506 Housing Development Specialist + \$55,161 \$63,728 \$106,222 \$57,078 \$65,640 22506 Housing Development Spec. Trainee + \$43,085 \$49,548 Flat Rate \$44,377 \$51,034 91410, 914100 Illustrator @ \$41,634 \$47,764 \$55,363 \$42,780 \$49,149 90722, 907220 Industrial Hygienist + \$46,010 \$52,912 \$73,124 \$47,390 \$54,690 90722, 907220 Instrument Maker (Radiology) \$55,416 \$63,728 \$83,151 \$57,078 \$65,640 21206, 212060 Junior Chemist @ \$47,891 \$55,075 \$70,457 \$49,328 \$56,727 21805, 218050 Junior Chile Engineer @ \$47,891 \$55,075 \$70,457 \$49,328 \$56,727 2006, 202060 Junior Derafter @ \$47,891 \$55,075 \$70,457 \$49,328 \$56,727 <td< td=""><td></td><td>_</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>•</td><td>\$100,150</td></td<>		_									•	\$100,150
22315 Highway Transportation Specialist + \$55,416 \$63,728 \$106,222 \$57,078 \$65,640 22507 Housing Development Specialist + \$55,416 \$63,728 \$97,173 \$57,078 \$65,640 22506 Housing Development Spec. Trainee + \$43,085 \$49,548 Flat Rate \$44,377 \$51,034 91410, 914100 Illustrator @ \$41,534 \$47,764 \$55,363 \$42,780 \$49,197 31305 Industrial Hygienist + \$46,010 \$52,912 \$73,124 \$47,390 \$54,499 90722, 907220 Instrument Maker (Radiology) \$55,416 \$63,728 \$83,151 \$57,078 \$65,640 21206, 212060 Junior Architect @ \$47,891 \$55,075 \$70,457 \$49,328 \$55,727 20206, 202060 Junior Chemist @ \$47,891 \$55,075 \$70,457 \$49,328 \$56,727 20306, 203060 Junior Drafter @ \$47,891 \$55,075 \$70,457 \$49,328 \$56,727 20306, 203060 Junior Health Facilities Planner \$47,891 \$55,075 \$70,457 \$49,328 \$56,727 20406,		•									·	\$116,633
22506 Housing Development Spec. Trainee + \$43,085 \$49,548 Flat Rate \$44,377 \$51,034 91410, 914100 Illustrator @ \$41,534 \$47,764 \$55,363 \$42,780 \$49,197 31305 Industrial Hygienist + \$46,010 \$52,912 \$73,124 \$47,390 \$54,499 90722, 907220 Instrument Maker (Radiology) \$55,416 \$63,728 \$83,151 \$57,078 \$65,499 21206, 212060 Junior Architect @ \$47,891 \$55,075 \$70,457 \$49,328 \$56,727 21805, 218050 Junior Chemist @ \$43,877 \$50,458 \$60,038 \$45,193 \$51,972 20206, 202060 Junior Civil Engineer @ \$47,891 \$55,075 \$70,457 \$49,328 \$56,727 20306, 203060 Junior Drafter @ \$47,891 \$55,075 \$70,457 \$49,328 \$56,727 20306, 203060 Junior Health Facilities Planner \$47,891 \$55,075 \$70,457 \$49,328 \$56,727 20406, 204060 Junior Mechanical Engineer @ \$47,891 \$55,075 \$70,457 \$49,328 \$56,727 20406, 2	22315	Highway Transportation Specialist +				\$63,728	\$106,222	\$57,078				\$109,409
91410, 914100 Illustrator @ \$41,534 \$47,764 \$55,363 \$42,780 \$49,197 31305 Industrial Hygienist + \$46,010 \$52,912 \$73,124 \$47,390 \$54,499 90722, 907220 Instrument Maker (Radiology) \$55,416 \$63,728 \$83,151 \$57,078 \$65,640 21206, 212060 Junior Architect @ \$47,891 \$55,075 \$70,457 \$49,328 \$56,727 20206, 202060 Junior Civil Engineer @ \$47,891 \$55,075 \$70,457 \$49,328 \$56,727 20306, 203060 Junior Drafter @ \$47,891 \$55,075 \$70,457 \$49,328 \$56,727 20306, 203060 Junior Electrical Engineer @ \$47,891 \$55,075 \$70,457 \$49,328 \$56,727 20306, 203060 Junior Health Facilities Planner \$47,891 \$55,075 \$70,457 \$49,328 \$56,727 20406, 204060 Junior Mechanical Engineer @ \$47,891 \$55,075 \$70,457 \$49,328 \$56,727 92237 Landmarks Preservationist ##, + \$54,891 \$55,075 \$70,457 \$49,328 \$56,727 \$4												\$100,088
31305 Industrial Hygienist + \$46,010 \$52,912 \$73,124 \$47,390 \$54,499 90722, 907220 Instrument Maker (Radiology) \$55,416 \$63,728 \$83,151 \$57,078 \$65,640 21206, 212060 Junior Architect @ \$47,891 \$55,075 \$70,457 \$49,328 \$51,972 20206, 202060 Junior Civil Engineer @ \$47,891 \$55,075 \$70,457 \$49,328 \$56,727 20306, 203060 Junior Drafter @ \$47,891 \$55,075 \$70,457 \$49,328 \$56,727 20306, 203060 Junior Electrical Engineer @ \$47,891 \$55,075 \$70,457 \$49,328 \$56,727 2080, 220800 Junior Health Facilities Planner \$47,891 \$55,075 \$70,457 \$49,328 \$56,727 20406, 204060 Junior Mechanical Engineer @ \$47,891 \$55,075 \$70,457 \$49,328 \$56,727 20406, 204060 Junior Mechanical Engineer @ \$47,891 \$55,075 \$70,457 \$49,328 \$56,727 92237 Landmarks Preservationist ##, + \$54,891 \$55,075 \$70,457 \$49,328 \$56,727 <tr< td=""><td></td><td>·</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>Flat Rate</td></tr<>		·										Flat Rate
90722, 907220Instrument Maker (Radiology)\$55,416\$63,728\$83,151\$57,078\$65,64021206, 212060Junior Architect @\$47,891\$55,075\$70,457\$49,328\$56,72721805, 218050Junior Chemist @\$43,877\$50,458\$60,038\$45,193\$51,97220206, 202060Junior Civil Engineer @\$47,891\$55,075\$70,457\$49,328\$56,72720306, 203060Junior Drafter @\$47,891\$55,075\$70,457\$49,328\$56,72720306, 203060Junior Electrical Engineer @\$47,891\$55,075\$70,457\$49,328\$56,72720406, 203060Junior Health Facilities Planner\$47,891\$55,075\$70,457\$49,328\$56,72720406, 204060Junior Mechanical Engineer @\$47,891\$55,075\$70,457\$49,328\$56,72792237Landmarks Preservationist ##, +\$54,282\$62,424\$89,362\$55,910\$64,297												\$57,024 \$75,318
21206, 212060Junior Architect @\$47,891\$55,075\$70,457\$49,328\$56,72721805, 218050Junior Chemist @\$43,877\$50,458\$60,038\$45,193\$51,97220206, 202060Junior Civil Engineer @\$47,891\$55,075\$70,457\$49,328\$56,72720102Junior Drafter @\$47,891\$55,075\$70,457\$49,328\$56,72720306, 203060Junior Electrical Engineer @\$47,891\$55,075\$70,457\$49,328\$56,72720406, 204060Junior Health Facilities Planner\$47,891\$55,075\$70,457\$49,328\$56,72720406, 204060Junior Mechanical Engineer @\$47,891\$55,075\$70,457\$49,328\$56,72792237Landmarks Preservationist ##, +\$54,282\$62,424\$89,362\$55,910\$64,297											•	\$75,318 \$85,646
21805, 218050Junior Chemist @\$43,877\$50,458\$60,038\$45,193\$51,97220206, 202060Junior Civil Engineer @\$47,891\$55,075\$70,457\$49,328\$56,72720306, 203060Junior Drafter @\$47,891\$55,075\$70,457\$49,328\$56,72720306, 203060Junior Electrical Engineer @\$47,891\$55,075\$70,457\$49,328\$56,72720406, 204060Junior Mechanical Engineer @\$47,891\$55,075\$70,457\$49,328\$56,72792237Landmarks Preservationist ##, +\$54,282\$62,424\$89,362\$55,910\$64,297		, 50,									·	\$72,571
20206, 202060Junior Civil Engineer @\$47,891\$55,075\$70,457\$49,328\$56,72720102Junior Drafter @\$47,891\$55,075\$70,457\$49,328\$56,72720306, 203060Junior Electrical Engineer @\$47,891\$55,075\$70,457\$49,328\$56,72722080, 220800Junior Health Facilities Planner\$47,891\$55,075\$70,457\$49,328\$56,72720406, 204060Junior Mechanical Engineer @\$47,891\$55,075\$70,457\$49,328\$56,72792237Landmarks Preservationist ##, +\$54,282\$62,424\$89,362\$55,910\$64,297											•	\$61,839
20102 Junior Drafter @ \$47,891 \$55,075 \$70,457 \$49,328 \$56,727 20306, 203060 Junior Electrical Engineer @ \$47,891 \$55,075 \$70,457 \$49,328 \$56,727 22080, 220800 Junior Health Facilities Planner \$47,891 \$55,075 \$70,457 \$49,328 \$56,727 20406, 204060 Junior Mechanical Engineer @ \$47,891 \$55,075 \$70,457 \$49,328 \$56,727 92237 Landmarks Preservationist ##, + \$54,282 \$62,424 \$89,362 \$55,910 \$64,297	•										•	\$72,571
22080, 220800 Junior Health Facilities Planner \$47,891 \$55,075 \$70,457 \$49,328 \$56,727 20406, 204060 Junior Mechanical Engineer @ \$47,891 \$55,075 \$70,457 \$49,328 \$56,727 92237 Landmarks Preservationist ##, + \$54,282 \$62,424 \$89,362 \$55,910 \$64,297	•	_									·	\$72,571
20406, 204060 Junior Mechanical Engineer @ \$47,891 \$55,075 \$70,457 \$49,328 \$56,727 92237 Landmarks Preservationist ##, + \$54,282 \$62,424 \$89,362 \$55,910 \$64,297		•									•	\$72,571
92237 Landmarks Preservationist ##, + \$54,282 \$62,424 \$89,362 \$55,910 \$64,297											·	\$72,571
		3									•	\$72,571 \$02,042
でとこて Lanumano i reservation Suev. と かり. 123 133 131		·									·	\$92,043 \$80,540
21315 Landscape Architect ##, + \$65,783 \$75,651 \$118,610 \$67,757 \$77,921		·										\$80,540 \$122,168

CBU CODE: 004 UNION: DC 37

EFFECTIVE DATE: OCTOBER 26, 2019 3%

After an After an Hired After Additional Additional Hired After Hiring 10/25/19 6 months Hiring 10/26/19 6 months Incumbent Incumbent After After Rate Rate # move into Rate Rate # move into TITLE 10/25/19 10/25/19 10/25/19 10/26/19 6 months Assistant title 10/26/19 6 months Assistant title 10/26/19 **CODE** TITLE MIN MAX MIN MIN MAX MIN MAX MIN MIN MAX 21306 \$62,260 \$49,916 \$56,412 \$56,416 \$57,403 \$60,447 \$51,413 \$58,104 \$58,078 \$59,125 Landscape Arch. Intern *, ## 06753 Marine Electronics Technician \$84,097 \$96,712 \$124,343 \$86,620 \$99,613 \$128,073 91574 \$84,097 \$96,712 \$124,343 \$86,620 \$99,613 \$128,073 Marine Electronics Technician (DOT) 91576 \$84,097 \$96,712 \$124,343 \$86,620 \$99,613 \$128,073 Marine Electronics Technician (DEP) \$67,757 \$77,921 \$75,651 \$118,610 \$122,168 20415-18, 204150 Mechanical Eng. (Incl. specs.) ##, ###, + \$65,783 20405 Mechanical Eng. Drafter @ \$47,891 \$55,075 \$70,457 \$49,328 \$56,727 \$72,571 20403, 204030 \$49,916 \$57,403 \$60,447 \$51,413 \$58,104 \$58,078 \$59,125 \$62,260 Mechanical Eng. Intern *, ##, ### \$56,412 \$56,416 \$37,799 \$56,801 \$38,933 \$44,773 \$58,505 90690, 906900 Medical Equipment Repair Technician ### \$43,469 90691, 906910 Medical Equipment Specialist, ##, ### \$50,397 \$57,957 \$74,115 \$51,910 \$59,696 \$76,338 32815 \$45,370 \$52,175 \$63,711 \$46,730 \$53,740 \$65,622 Painting Inspector \$63,728 \$106,222 \$57,078 \$65,640 \$109,409 22015, 220150 \$55,416 Physicist ###, + 22016-18, 220170, 80 \$65,783 \$75,651 \$95,270 \$67,757 \$77,921 \$98,128 Physicist (Electronics, Isotopes, Radiation) +++ 22001 Physicist Trainee +++ \$47,891 \$55,075 Flat Rate \$49,328 \$56,727 Flat Rate \$70,341 \$80,892 22410 \$68,292 \$78,536 \$99,303 \$102,282 Plan Examiner (Buildings) ## 22115 \$63,309 \$72,805 \$93,197 \$65,208 \$74,989 \$95,993 Planner 22107 \$47,891 \$55,075 \$49,328 \$56,727 Planner Trainee @ Flat Rate Flat Rate 20620 Prin. Air Poll. Control Engineer @ \$91,537 \$105,268 \$118,728 \$94,283 \$108,426 \$122,290 31360 \$62,880 \$72,312 \$86,545 \$64,766 \$74,481 \$89,141 Principal Air Pollution Inspector 20550 \$91,537 \$105,268 \$94,283 \$108,426 \$122,290 Principal Chemical Engineer @ \$118,728 21835-37, 218350 Principal Chemist (Incl. specs.) @ \$75,852 \$87,230 \$115,201 \$78,128 \$89,847 \$118,657 20250,20260 \$91,537 \$118,728 \$94,283 \$108,426 \$122,290 Prin. Civil Eng. (Incl. specs.) @ \$105,268 \$118,728 \$94,283 \$108,426 \$122,290 20350 Principal Electrical Engineer @ \$91,537 \$105,268 \$122,290 21130 \$91,537 \$105,268 \$118,728 \$94,283 \$108,426 Principal Engineer 91460,03818 Principal Illustrator @ \$55,416 \$63,728 \$83,151 \$57,078 \$65,640 \$85,646 \$91,537 \$94,283 \$108,426 \$122,290 20450 Principal Mechanical Engineer @ \$105,268 \$118,728 \$76,363 \$87,817 22030 \$85,259 \$113,236 \$116,633 Principal Physicist +++ \$74,138 \$87,230 \$115,201 \$78,128 \$89,847 \$118,657 22130,03816 Principal Planner \$75,852 21770, 217700 \$91,537 \$105,268 \$118,728 \$94,283 \$108,426 \$122,290 Prin. Res. Scientist (Biolog. Sciences) 22095 \$91,546 \$132,439 \$81,993 \$94,292 \$136,412 Principal Urban Designer \$79,605 22421,03718 \$65,783 \$75,651 \$95,270 \$67,757 \$77,921 \$98,128 Project Coordinator 22525 \$75,651 \$95,270 \$67,757 \$77,921 \$98,128 Proj. Development Coord. @ \$65,783 22504 \$47,891 \$55,075 Flat Rate \$49,328 \$56,727 Proj. Development Coord. Trainee @ Flat Rate \$63,728 22426 \$83,151 \$57,078 \$65,640 \$85,646 Project Manager (Other than HHC) \$55,416 224260, 224270 Project Manager (HHC only)+ \$63,728 \$57,078 \$65,640 \$116,400 \$55,416 \$113,010 039710 Project Manager (HHC only) \$64,514 \$74,191 \$113,010 \$66,450 \$76,417 \$116,400 22425 Project Manager Intern \$50,034 \$57,539 Flat Rate \$51,535 \$59,265 Flat Rate \$77,921 \$67,757 \$98,128 22526 Project Services Specialist @ \$65,783 \$75,651 \$95,270 \$52,931 \$48,390 \$54,519 00457, 004570 Radio Repair Technician \$40,853 \$46,981 \$42,078 \$75,504 \$86,830 \$122,290 21755 Research Scientist + \$73,305 \$84,301 \$118,728 \$42,877 \$49,308 \$60,841 \$44,163 \$50,787 \$62,666 31617,05609, 316170 Safety Officer \$51,828 \$63,608 05799, 31310 Safety Specialist \$43,755 \$50,318 \$61,755 \$45,068 21516 Scientist (Radiation Control) + \$55,416 \$106,222 \$57,078 \$65,640 \$109,409 \$63,728 21538 Scientist (Water Ecology) + \$44,116 \$50,733 \$91,247 \$45,439 \$52,255 \$93,984 \$45,095 21537 Scientist (Water Ecology) Trainee ++ \$38,071 Flat Rate \$39,213 \$43,782 Flat Rate 20615 Sr. Air Pollution Control Engineer @ \$72,476 \$106,222 \$74,650 \$85,847 \$109,409 \$83,347 31335 \$50,679 \$52,199 \$60,029 \$73,502 Senior Air Pollution Inspector \$58,281 \$71,361 21225-26, 212250 Senior Architect (Incl. specialties) @ \$72,476 \$106,222 \$74,650 \$85,847 \$109,409 \$83,347 \$74,650 \$85,847 \$109,409 20131 Senior Automotive Specialist \$72,476 \$83,347 \$106,222 Senior Chemical Engineer @ 20525 \$72,476 \$106,222 \$74,650 \$85,847 \$109,409 \$83,347 21825-31 Senior Chemist (Incl. specialties) \$69,150 \$79,522 \$97,785 \$71,224 \$81,908 \$100,719 Sr. Civil Engineer (Incl. spec.) @ \$74,650 \$85,847 \$109,409 20225-32, 202250 \$72,476 \$83,347 \$106,222 20325-29, 203250 Sr. Electrical Eng. (Incl. spec.) @ \$72,476 \$106,222 \$74,650 \$85,847 \$109,409 \$83,347 20725 Senior Engineer (Accounting) \$72,476 \$106,222 \$74,650 \$85,847 \$109,409 \$83,347 20825 Senior Engineer (Safety) @ \$72,476 \$83,347 \$106,222 \$74,650 \$85,847 \$109,409 20234 Senior Engineer (Cranes) @ \$72,476 \$106,222 \$74,650 \$85,847 \$109,409 \$83,347 20920 Senior Engineer-Assessor @ \$72,476 \$106,222 \$74,650 \$85,847 \$109,409 \$83,347 \$47,577 \$70,092 \$49,003 \$56,354 \$72,195 20114, 16, 09518,03806 Sr. Engnrg Tech. (Incl. spec.JOP) @ \$54,713 90972 Sr. Environmental Control Tech. \$47,577 \$54,713 \$70,092 \$49,003 \$56,354 \$72,195 \$77,921 20126 \$65,783 \$95,270 \$67,757 \$98,128 Senior Estimator (Incl. specialties) \$75,651 20127, 28 \$95,270 \$67,757 \$77,921 \$98,128 Senior Estimator (Incl. specialties) ## \$65,783 \$75,651 Senior Geologist \$72,476 \$106,222 \$74,650 \$85,847 \$109,409 21925 \$83,347 Senior Health Facilities Planner 22083, 220830 \$82,385 \$122,835 \$84,857 \$97,585 \$126,520 \$94,743 \$67,757 \$77,921 \$98,128 22325 Sr. Highway Transportation Spec. +++ \$65,783 \$75,651 \$95,270 33335 \$50,679 \$71,361 \$52,199 \$60,029 \$73,502 Senior Hull & Machinery Inspector \$58,281 \$53,552 91435, 914350 Senior Illustrator \$45,210 \$51,992 \$66,232 \$46,567 \$68,219 20625 \$74,650 \$85,847 \$109,409 Senior Industrial Engineer \$72,476 \$83,347 \$106,222 21325 \$72,476 \$106,222 \$74,650 \$85,847 \$109,409 Senior Landscape Architect @ \$83,347 Sr. Mechanical Engineer (Incl. specs.) \$72,476 \$74,650 \$85,847 \$109,409 20425-28, 204250 \$83,347 \$106,222 21950 Senior Meteorologist \$50,397 \$57,957 \$74,115 \$51,910 \$59,696 \$76,338

OCTOBER 26, 2019 3%

CBU CODE: 004

UNION: DC 37

EFFECTIVE DATE:

22093

22090

22100

34515

After an After an Additional Additional Hired After Hired After Hiring 10/25/19 6 months Hiring 10/26/19 6 months Incumbent Incumbent After After Rate # move into Rate Rate # move into Rate TITLE 10/25/19 10/25/19 10/25/19 10/26/19 10/26/19 6 months Assistant title 6 months Assistant title 10/26/19 CODE TITLE MIN MAX MIN MIN MAX MIN MAX MIN MIN MAX \$73,502 32835 \$50,679 \$58,281 \$52,199 \$60,029 Senior Painting Inspector \$71,361 22025-29, 220250,60,70 \$72,476 \$83,347 \$106,222 \$74,650 \$85,847 \$109,409 Senior Physicist (Incl. specialties) ###, +++ 22411 \$74,138 \$85,259 \$113,236 \$76,363 \$87,817 \$116,633 Senior Plan Examiner (Buildings) 22125,03801 \$71,159 \$81,833 \$103,952 \$73,294 \$84,288 \$107,071 Senior Planner @ 22422 \$106,222 \$74,650 \$85,847 \$109,409 Senior Project Coordinator \$72,476 \$83,347 22530 Senior Project Development Coord. @ \$72,476 \$83,347 \$106,222 \$74,650 \$85,847 \$109,409 22531 \$72,476 \$83,347 \$106,222 \$74,650 \$85,847 \$109,409 Senior Project Services Specialist @ 21526 Senior Scientist (Radiation Control) \$83,347 \$106,222 \$74,650 \$85,847 \$72,476 \$109,409 34235 Sr. Suprvsr. of Mechanical Installations \$68,292 \$78,536 \$99,303 \$70,341 \$80,892 \$102,282 31735 Senior Traffic Control Inspector +++ \$48,476 \$55,747 \$68,823 \$49,930 \$57,419 \$70,888 22094 \$83,347 \$74,650 \$85,847 \$72,476 \$106,222 \$109,409 Senior Urban Designer @ 34535 \$50,679 \$58,281 \$71,361 \$52,199 \$60,029 \$73,502 Sr. Waterfront Construction Insp. 80184 \$55,416 \$63,728 \$95,270 \$57,078 \$65,640 \$98,128 Space Analyst +++ \$77,921 34215,03796, 342150 Supt. of Construction +, +++ \$65,783 \$75,651 \$95,270 \$67,757 \$98,128 91375 \$65,783 \$75,651 \$95,270 \$67,757 \$77,921 \$98,128 Supt. of Construction and Repairs 31355 Supervising Air Pollution Inspector \$78,944 \$58,477 \$67,249 \$81,312 \$56,774 \$65,290 90973 \$62,601 \$75,866 \$56,069 \$64,479 \$78,142 Supvsg. Environmental Control Tech. \$54,436 33355 \$55,757 \$64,120 \$77,772 \$57,430 \$66,044 \$80,105 Supervising Hull & Machinery Insp. 31750 \$53,831 \$61,906 \$75,560 \$55,446 \$63,763 \$77,827 Supervising Traffic Control Inspector +++ 91670-2 Supvr. of Building Maint.(All Fields) ##, +++ \$55,416 \$63,728 \$83,151 \$57,078 \$65,640 \$85,646 91642 \$63,947 \$73,539 \$91,227 \$65,865 \$75,745 \$93,964 Supervisor of Diesel Engine Maint. 34220 \$95,270 \$67,757 \$77,921 \$98,128 Supervisor of Electrical Installations \$65,783 \$75,651 34205 \$55,416 \$63,728 \$95,270 \$57,078 \$65,640 \$98,128 Supvsr. of Elec. Installations & Maint. +, ## 34216 Supervisor of Mechanical Installations \$65,783 \$75,651 \$95,270 \$67,757 \$77,921 \$98,128 34221 \$63,728 \$106,222 \$57,078 \$65,640 \$109,409 Supvsr. of Mech. Installations & Maint.+, ## \$55,416 \$74,650 \$85,847 21015 \$83,347 \$106,222 \$109,409 \$72,476 Surveyor +, +++++, ## 21006 \$95,270 \$57,078 \$65,640 \$98,128 Tax Map Cartographer + \$55,416 \$63,728 20238 \$69,963 \$80,458 \$102,577 \$72,063 \$82,872 \$105,654 Telemetric Systems Specialist 31715 \$75,560 \$45,210 \$51,991 \$77,827 Traffic Control Inspector + \$43,893 \$50,477 92248 **Urban Archeologist** \$58,780 \$80,121 \$52,646 \$60,543 \$82,525 \$51,113

\$67,757

\$49,328

\$38,930

\$46,730

\$95,270

Flat Rate

\$57,984

\$63,711

\$75,651

\$55,075

\$43,465

\$52,175

\$77,921

\$56,727

\$44,769

\$53,740

\$98,128

Flat Rate

\$59,724

\$65,622

^ Board of Certification AC-1571-14

Waterfront Construction Inspector

Urban Designer @

Urban Technician

NOTE:

Urban Designer Trainee

* Upon completion of six months of satisfactory permanent service in the title, the maximum hiring rate salary shall apply. Upon completion of an additional six months of satisfactory permanent service in the title, the employee shall be appointed to the applicable Assistant Engineer/Architect title at the minimum hiring rate, plus an additional \$1,000. Upon completion of an additional one year of satisfactory permanent service in the title, the employee shall be paid the at the minimum incumbent rate in effect on the one year anniversary of the employee's original date of appointment to the applicable intern title, plus an additional \$1,000.

\$65,783

\$47,891

\$37,796

\$45,370

- ** Upon completion of six months of satisfactory permanent service in the title, an employee shall be guaranteed a minimum salary equal to the then current applicable minimum hiring rate plus an additional \$1,000. Upon completion of an additional eighteen (18) months of satisfactory permanent service in the title, the employee shall be guaranteed a minimum salary equal to the minimum incumbent rate in effect on the one year anniversary of the employee's original date of appointment to the applicable title, plus an additional \$1,000.
- *** Upon completion of one year of satisfactory service in the title, the maximum salary shall apply.
- **** This is a trainee class of positions with a three year probationary period. At the end of two years of satisfactory probationary service and training employees in this class of positions will mature without further examination to Level I of the title Construction Project Manager, subject to a one year probationary term in the title of Construction Project Manager. However, if a trainee has one year of construction management or inspection experience, he may be advanced to Construction Project Manager Level I at the end of one year, subject to a one year probationary term in the title of Construction Project Manager.
- # Employees hired on or after 10/26/19 shall be paid the hiring rate effective 10/26/19, respectively. Upon completion of two (2) years of active or qualified inactive service, such employee shall be paid the indicated "minimum" for the applicable title that is in effect on the two year anniversary of their original appointment as set forth in the applicable Successor Separate Unit Agreement. In no case shall an employee receive less than the stated hiring rate.
- ## Each appointment to this position above the October 26, 2019 hiring rate will be handled on a case by case basis.
- ### Each appointment to this position at HHC above the October 26, 2019 hiring rate will be handled on a case by case basis.
- #### Employees hired into City service after 10/26/19 shall be paid no less than the "Hired after 10/26/19 minimum" for the applicable
 - assignment level. Upon completion of two years of active or qualified inactive city service, such employee shall be paid no less than the indicated minimum for the employees' assignment level that is in effect for incumbents on the two year anniversary of their original appointment to city service.
- ##### Upon completion of one year at Assignment Level I, employees shall be paid no less than the indicated minimum for incumbents at Assignment Level I that is in effect on their one year of service anniversaries. Pursuant to Board of Certification #13-2007dated September 11, 2007.
- ##### This title was revised pursuant to DCAS Resolution # 2011-16 dated August 3, 2011.
 - @ Present incumbents only.
- @@ Voluntary Recognition effective July 24, 2018.
- + See attached schedule of levels.
- ++ Footnote (#) is not applicable +++ To be deleted.
- ++++ Effective July 31, 2015, This citywide title is established and designated only for present Correctional Health Services incumbent(s) functionally

CBU CODE: 004 UNION: DC 37

EFFECTIVE DATE: OCTOBER 26, 2019 3%

				After an					After an		
			Hired After	Additional				Hired After	Additional		
		Hiring	10/25/19	6 months	Incumbent		Hiring	10/26/19	6 months	Incumbent	
		Rate #	After	move into	Rate		Rate #	After	move into	Rate	
TITLE		10/25/19	6 months A	Assistant title	10/25/19	10/25/19	10/26/19	6 months A	ssistant title	10/26/19	10/26/19
CODE	TITLE	MIN	MAX	MIN	MIN	MAX	MIN	MAX	MIN	MIN	MAX

transferred into HHC from DOHMH

⁺⁺⁺⁺ After satisfactory completion of one year of training and service in the title of Surveyor Level I-A, incumbents will be assigned to Level I-B at a salary of no less than the "new hire min" for Level I-B. Upon completion of two years of qualifying active or inactive City Service, such employees at Level I-B shall be paid no less than the "Incumbent Min" that is in effect on the two (2) year anniversary of their original appointment to City Service as desribed in "Note #" above.

⁺⁺⁺⁺⁺ After one year of service at Level 1A salary, incumbents move to 1B minimum automatically.

UNIT:

ENGINEERING/SCIENTIFIC

CBU CODE: UNION: 004 DC 37

EFFECTIVE DATE:

OCTOBER 26, 2019 3%

EFFECTIVE DATE:	OCTOBER 26, 2019 3%									
				Afte	r an			After an		
				Hired After Addition	onal			Hired After Additional		
			Hiring				Hiring		Incumbent	
			Hiring		nths Incumbent		Hiring		Incumbent	
			Rate #	After move	into Rate		Rate #	After move into	Rate	
TITLE			10/25/19	6 months Assistant	title 10/25/19	10/25/19	10/26/19	6 months Assistant title	10/26/19	10/26/19
CODE	TITLE		MIN	MAX	MIN MIN	MAX	MIN	MAX MIN	MIN	MAX
20610	Air Pollution Control Engine	oor *								
20010	All Pollution Control Engine		\$05.700		Ф 7 Г 0Г4	405.070			Ф 7 7 004	#00.400
		Level I	\$65,783		\$75,651	\$95,270	\$67,757		\$77,921	\$98,128
		Level II	\$78,210		\$89,942	\$108,657	\$80,557		\$92,640	\$111,917
		Level III	\$87,490		\$100,613	\$118,610	\$90,114		\$103,631	\$122,168
31315	Air Pollution Inspector									
		Level I								
		Hiring Rate	\$33,933		Flat Rate		\$34,951		Flat Rate	
		After 1 year	\$35,624		Flat Rate		\$36,693		Flat Rate	
		After 2 years	\$37,403		\$43,014		\$38,525		\$44,304	
		-				CO 744				ФОГ 000
		Level II	\$45,370		\$52,175	\$63,711	\$46,730		\$53,740	\$65,622
21215,16	Architect (incl. specialty)									
		Level I	\$65,783		\$75,651	\$95,270	\$67,757		\$77,921	\$98,128
		Level II	\$78,210		\$89,942	\$108,657	\$80,557		\$92,640	\$111,917
		Level III	\$87,490		\$100,613	\$118,610	\$90,114		\$103,631	\$122,168
06106	Architectural Specialist *	20001111	φοι, του		φτοσ,στο	Ψ110,010	φοσ,τττ		Ψ100,001	Ψ122,100
00100	Architectural Specialist	Lavall	\$70.040		#00.040	# 400.057	000 557		# 00.040	0444 047
		Level I	\$78,210		\$89,942	\$108,657	\$80,557		\$92,640	\$111,917
		Level II	\$87,490		\$100,613	\$118,610	\$90,114		\$103,631	\$122,168
31316	Associate Air Pollution Insp	pector								
		Level I	\$50,679		\$58,281	\$71,361	\$52,199		\$60,029	\$73,502
		Level II	\$56,774		\$65,290	\$78,944	\$58,477		\$67,249	\$81,312
		Level III	\$62,880		\$72,312	\$86,545	\$64,766		\$74,481	\$89,141
21822, 963010	Associate Chemist	20701111	Ψ02,000		Ψ12,012	ψου,υ-ιο	φο-1,7 σσ		Ψ1-1,-10-1	φοσ, ι -ι ι
	Associate Chemist	Trainas Data	¢40.077		CEO 450	Flat Data	Φ4E 400		#E4.070	Flot Doto
963020,963030		Trainee Rate	\$43,877		\$50,458	Flat Rate	\$45,193		\$51,972	Flat Rate
		After 1 year in title	\$51,382		\$59,089	\$75,243	\$52,923		\$60,862	\$77,500
		Level II	\$58,290		\$67,034	\$86,455	\$60,039		\$69,045	\$89,049
		Level III	\$69,150		\$79,522	\$97,785	\$71,224		\$81,908	\$100,719
		Level IV	\$75,852		\$87,230	\$115,201	\$78,128		\$89,847	\$118,657
22123	Associate City Planner *		¥ - ,		, - ,	, -, -	, -, -		· / -	+ -,
22.20	recorded only realisted	Level I	\$71,159		\$81,833	\$103,952	\$73,294		\$84,288	\$107,071
00440		Level II	\$75,852		\$87,230	\$115,201	\$78,128		\$89,847	\$118,657
20118 +++, 961710, 20	Assoc. Engineering Tech.				.	•				
		Level I	\$47,577		\$54,713	\$70,092	\$49,003		\$56,354	\$72,195
		Level II	\$54,436		\$62,601	\$75,866	\$56,069		\$64,479	\$78,142
22427	Associate Project Manager	r								
		Level I	\$65,783		\$75,651	\$95,270	\$67,757		\$77,921	\$98,128
		Level II	\$72,476		\$83,347	\$106,222	\$74,650		\$85,847	\$109,409
		Level III	\$87,490			\$118,610				
00404	Acceptate Unban Designan		φ67,490		\$100,613	\$110,010	\$90,114		\$103,631	\$122,168
22124	Associate Urban Designer		*		^ 1	*	A		^	***
		Level I	\$65,783		\$75,651	\$95,270	\$67,757		\$77,921	\$98,128
		Level II	\$72,476		\$83,347	\$106,222	\$74,650		\$85,847	\$109,409
		Level III	\$75,709		\$87,065	\$114,764	\$77,980		\$89,677	\$118,207
20515, 202150	Chemical Engineer									
	G	Level I	\$65,783		\$75,651	\$95,270	\$67,757		\$77,921	\$98,128
		Level II	\$78,210		\$89,942	\$108,657	\$80,557		\$92,640	\$111,917
		Level III	\$87,490		\$100,613	\$118,610	\$90,114		\$103,631	\$122,168
21744, 217440/50/60/70	City Research Scientist ##									
		Level I								
		Hiring Rate	\$62,272			Flat Rate	\$64,140			Flat Rate
		After 1 year ##	See Footnote		\$68,499	\$75,349	See Footnote		\$70,554	\$77,609
		Level II	\$73,305		\$84,301	\$92,001	\$75,504		\$86,830	\$94,761
		Level III				\$107,770			\$97,138	
			\$82,008		\$94,309 \$405,368		\$84,468			\$111,003 \$133,300
		Level IV-A	\$91,537		\$105,268	\$118,728	\$94,283		\$108,426	\$122,290
		Level IV-B	\$93,954		\$108,047	\$136,563	\$96,772		\$111,288	\$140,660
22122	City Planner									
		Level I	\$53,600		\$61,640	\$77,410	\$55,208		\$63,489	\$79,732
		Level II	\$63,309		\$72,805	\$93,197	\$65,208		\$74,989	\$95,993
		Level III	\$71,159		\$81,833	\$103,952	\$73,294		\$84,288	\$107,071
		Level IV	\$75,852		\$87,230	\$115,201	\$78,128		\$89,847	\$118,657

UNIT:

ENGINEERING/SCIENTIFIC

CBU CODE:

004 DC 37

UNION: EFFECTIVE DATE:

OCTOBER 26, 2019 3%

TITLE	OCTOBER 26, 2019 3%		Hiring Rate #	Hired After 10/25/19 After	move into	Incumbent Rate	40/05/40	Hiring Rate #	Hired After 10/26/19 After	After an Additional 6 months move into	Incumbent Rate	40/00/40
TITLE CODE	TITLE		10/25/19 MIN	6 months <i>F</i> MAX	Assistant title MIN	10/25/19 MIN	10/25/19 MAX	10/26/19 MIN	6 months A MAX	Assistant title MIN	10/26/19 MIN	10/26/19 MAX
20215-20	Civil Engineer (incl. specs.)		IVIIIN	IVIAX	IVIIIN	IVIIIN	IVIAA	IVIIIN	IVIAA	IVIIIN	IVIIIN	IVIAX
20213-20	Civil Engineer (mci. specs.)	Level I	\$65,783			\$75,651	\$95,270	\$67,757			\$77,921	\$98,128
		Level II	\$78,210			\$89,942	\$108,657	\$80,557			\$92,640	\$111,917
		Level III	\$87,490			\$100,613	\$118,610	\$90,114			\$103,631	\$122,168
34202, 962510-30	Construction Project Manager											
		Level I	\$55,416			\$63,728	\$83,151	\$57,078			\$65,640	\$85,646
		Level II	\$65,783			\$75,651	\$95,270	\$67,757			\$77,921	\$98,128
24.840	Criminalist ++, +++++, ***	Level III	\$69,963			\$80,458	\$118,610	\$72,063			\$82,872	\$122,168
21849	Cililinalist ++, ++++++,	Level I - A	see footnote			\$50,351	Flat Rate	see footnote			\$51,862	Flat Rate
		Level I - B	see footnote			\$50,331 \$53,493	\$63,456	see footnote			\$51,802 \$55,098	\$65,360
		Level II	see footnote			\$64,014	\$88,080	see footnote			\$65,934	\$90,722
		Level III	see footnote			\$79,802	\$105,123	see footnote			\$82,196	\$108,277
		Level IV	see footnote			\$92,079	\$120,277	see footnote			\$94,841	\$123,885
20315-20, 203150, 60	Elec. Engineer (Incl. specs.)											
		Level I	\$65,783			\$75,651	\$95,270	\$67,757			\$77,921	\$98,128
		Level II	\$78,210			\$89,942	\$108,657	\$80,557			\$92,640	\$111,917
00040	Footon de Occadation	Level III	\$87,490			\$100,613	\$118,610	\$90,114			\$103,631	\$122,168
06019	Engineering Specialist *	Lovell	¢79.240			\$90.042	\$400.657	\$90 FF7			\$00.640	¢111 017
		Level I Level II	\$78,210 \$87,490			\$89,942 \$100,613	\$108,657 \$118,610	\$80,557 \$90,114			\$92,640 \$103,631	\$111,917 \$122,168
		Levern	ψ07,490			ψ100,013	ψ110,010	ψ30,114			ψ103,031	ψ122,100
20113, 961610, 20	Engineering Tech. (Incl. spec.)											
09933,03768		Level I	\$37,796			\$43,465	\$49,035	\$38,930			\$44,769	\$50,506
		Level II	\$40,887			\$47,020	\$57,984	\$42,114			\$48,431	\$59,724
		Level III	\$47,577			\$54,713	\$70,092	\$49,003			\$56,354	\$72,195
		Level IV	\$54,436			\$62,601	\$75,866	\$56,069			\$64,479	\$78,142
20618	Environmental Engineer		\$05.700			A 75.054	405.070	A 07.757			A 77 004	# 00.400
		Level I	\$65,783			\$75,651 \$80,040	\$95,270	\$67,757			\$77,921 \$02,640	\$98,128
		Level II Level III	\$78,210 \$87,490			\$89,942 \$100,613	\$108,657 \$118,610	\$80,557 \$90,114			\$92,640 \$103.631	\$111,917 \$122,168
81361	Forester	Level III	\$67,490			\$100,613	\$118,610	\$90,114			\$103,631	φ122,100
01001	1 0103(01	Level I	\$42,156			\$48,479	\$59,823	\$43,420			\$49,933	\$61,618
		Level II	\$50,230			\$57,764	\$71,171	\$51,737			\$59,497	\$73,306
21915	Geologist **											
		Level I										
			Hiring Rate \$47,891		•	\$55,075	Flat Rate	\$49,328		•	\$56,727	Flat Rate
		1	After 1 Year ##		\$55,416	\$63,728	\$83,151	407.757		\$57,078	\$65,640	\$85,646
05726 04445	Craphia Artist	Level II	\$65,783			\$75,651	\$95,270	\$67,757			\$77,921	\$98,128
05736, 91415	Graphic Artist	Level I	\$44,266			\$50,906	\$69,365	\$45,594			\$52,433	\$71,446
		Level II	\$57,125			\$65,694	\$97,233	\$58,839			\$67,665	\$71,440 \$100,150
22315	Highway Transportation Specialis		φοι,20			ψοσ,σσ .	ψον,200	400,000			ψον,σσσ	ψ100,100
		Level I	\$55,416			\$63,728	\$83,151	\$57,078			\$65,640	\$85,646
		Level II ++++	\$65,783			\$75,651	\$95,270	\$67,757			\$77,921	\$98,128
		Level III ++++	\$72,476			\$83,347	\$106,222	\$74,650			\$85,847	\$109,409
22507	Housing Development Specialist					•	•	•			•	
		Level I	\$55,416			\$63,728	\$84,815	\$57,078			\$65,640	\$87,359
22506	Housing Dovelopment Spee Train	Level II	\$65,783			\$75,651	\$97,173	\$67,757			\$77,921	\$100,088
22506	Housing Development Spec. Train	Level I	\$43,085			\$49,548	Flat Rate	\$44,377			\$51,034	Flat Rate
		Level II	\$45,065 \$46,950			\$53,993	Flat Rate	\$48,359			\$51,03 4 \$55,613	Flat Rate
	Industrial Hygienist		ψ 10,000			400,000	at rate	¥ .5,566			700,010	
31305	70	Level I	\$46,010			\$52,912	\$65,071	\$47,390			\$54,499	\$67,023
		Level II	\$54,409			\$62,570	\$73,124	\$56,041			\$64,447	\$75,318
92237	Landmarks Preservationist											
		Level I	\$54,282			\$62,424	\$78,194	\$55,910			\$64,297	\$80,540
		Level II	\$60,144			\$69,166	\$89,362	\$61,949			\$71,241	\$92,043
21315	Landscape Architect											
		Level I	\$65,783			\$75,651	\$95,270	\$67,757			\$77,921	\$98,128
		Level II	\$78,210			\$89,942	\$108,657	\$80,557			\$92,640	\$111,917
		Level III	\$87,490			\$100,613	\$118,610	\$90,114			\$103,631	\$122,168

CBU CODE: 004

UNION: DC 37

EFFECTIVE DATE: OCTOBER 26, 2019 3%

TITLE	OOTOBER 20, 2010 070	Hiring Rate #	After an Hired After Additional 10/25/19 6 months After move into	Rate	40/05/40	Hiring Rate #	Hired After Addi 10/26/19 6 m After mov	ter an tional onths Incumbent e into Rate	40/00/40
TITLE CODE	TITLE	10/25/19 MIN	6 months Assistant title MAX MIN	10/25/19 MIN	10/25/19 MAX	10/26/19 MIN	6 months Assistar MAX	nt title 10/26/19 MIN MIN	10/26/19 MAX
20415-18, 204150	Mechanical Eng. (Incl. specs.)								
	Level I	\$65,783		\$75,651	\$95,270	\$67,757		\$77,921	\$98,128
	Level II	\$78,210		\$89,942	\$108,657	\$80,557		\$92,640	\$111,917
	Level III	\$87,490		\$100,613	\$118,610	\$90,114		\$103,631	\$122,168
22015	Physicist *								
	Level I	\$55,416		\$63,728	\$83,151	\$57,078		\$65,640	\$85,646
	Level II	\$65,783		\$75,651	\$95,270	\$67,757		\$77,921	\$98,128
	Level III	\$72,476		\$83,347	\$106,222	\$74,650		\$85,847	\$109,409
224260, 224270	Project Manager (HHC only)	A == 440		# 00 7 00	000 454	457.070		\$05.040	DOT 040
	Level I	\$55,416		\$63,728	\$83,151	\$57,078		\$65,640	\$85,646
04755	Level II	\$64,514		\$74,191	\$113,010	\$66,450		\$76,417	\$116,400
21755	Research Scientist	\$72.20E		#04 204	\$02.004	Φ7F F04		¢ 06 020	404 764
	Level I Level II	\$73,305 \$82,008		\$84,301 \$04,300	\$92,001 \$107,770	\$75,504 \$84,468		\$86,830 \$07,138	\$94,761 \$111,003
	Level III	\$82,008 \$91,537		\$94,309 \$105,268	\$107,770 \$118,728	\$84,468 \$94,283		\$97,138 \$108,426	\$122,290
80184	Space Analyst	\$91,537		\$105,200	φ110,720	ψ94,203		φ100,420	\$122,290
00104	Level I	\$55,416		\$63,728	\$83,151	\$57,078		\$65,640	\$85,646
	Level II	\$65,783		\$75,651	\$95,270	\$67,757		\$77,921	\$98,128
21516	Scientist (Radiation Control)	Ψοσ,7 σο		Ψ70,001	Ψ00,270	φον,νον		Ψ11,021	ψου, 120
21010	Level I	\$55,416		\$63,728	\$83,151	\$57,078		\$65,640	\$85,646
	Level II	\$65,783		\$75,651	\$95,270	\$67,757		\$77,921	\$98,128
	Level III	\$72,476		\$83,347	\$106,222	\$74,650		\$85,847	\$109,409
21538	Scientist (Water Ecology)	, ,		, , -	·,	, , , , , , , ,		¥ , -	,,
	Level I	\$44,116		\$50,733	\$66,754	\$45,439		\$52,255	\$68,757
	Level II	\$51,390		\$59,098	\$75,259	\$52,931		\$60,871	\$77,517
	Level III	\$63,957		\$73,551	\$91,247	\$65,877		\$75,758	\$93,984
34205	Suprvsr. of Electrical Installations & Maintenance								
	Level I	\$55,416		\$63,728	\$83,151	\$57,078		\$65,640	\$85,646
	Level II	\$65,783		\$75,651	\$95,270	\$67,757		\$77,921	\$98,128
34221	Suprvsr. of Mechanical Installations & Maintenance								
	Level I	\$55,416		\$63,728	\$83,151	\$57,078		\$65,640	\$85,646
	Level II	\$65,783		\$75,651	\$95,270	\$67,757		\$77,921	\$98,128
	Level III	\$68,292		\$78,536	\$99,303	\$70,341		\$80,892	\$102,282
24245	Level IV	\$72,476		\$83,347	\$106,222	\$74,650		\$85,847	\$109,409
21015	Surveyor +++++	ФЕБ 440		# 00 7 00	Flat Data	# 57.070		\$05.040	Elet Dete
	Level I - A	\$55,416 \$60,507		\$63,728	Flat Rate	\$57,078		\$65,640	Flat Rate
	Level I - B Level II	\$60,597 \$65,793		\$69,686 \$75,654	\$81,526	\$62,415 \$67,757		\$71,777 \$77,024	\$83,972
	Level III	\$65,783 \$72,476		\$75,651 \$83.347	\$95,270 \$106,222	\$67,757 \$74,650		\$77,921 \$85,847	\$98,128 \$100,400
21006	Tax Map Cartographer	\$72,476		\$83,347	\$106,222	\$74,650		ΦΟΌ,Ο47	\$109,409
21000	Level I-A	\$55,416		\$63,728	Flat Rate	\$57,078		\$65,640	Flat Rate
	Level I-B	\$60,597		\$69,686	\$81,526	\$62,415		\$71,777	\$83,972
	Level II	\$65,783		\$75,651	\$95,270	\$67,757		\$71,777 \$77,921	\$98,128
31715	Traffic Control Inspector	ψου, ι ου		Ψ10,001	ΨΟΟ,ΣΙΟ	φοι,τοι		Ψ11,321	ψου, 120
	Level I	\$43,893		\$50,477	\$62,019	\$45,210		\$51,991	\$63,880
	Level II	\$48,476		\$55,747	\$68,823	\$49,930		\$57,419	\$70,888
	Level III	\$53,831		\$61,906	\$75,560	\$55,446		\$63,763	\$77,827
	20101111	Ψ00,001		+0.,000	7.0,000	+ • • • • • • • • • • • • • • • • • • •		Ψοσ,, οσ	Ţ, U

<u>Note</u>

^{***} Criminalists employed by OCME shall be paid the following minimum rates:

	10/25/2019	10/26/2019
Level II	\$68,300	\$70,349
Level III	\$84,000	\$86,520
Level IV	\$95,000	\$97,850

⁺⁺ Footnote (#) is not applicable

⁺⁺⁺⁺ Pursuant to Voluntary Recognition

⁺⁺⁺⁺⁺ After satisfactory completion of one year of training and service in the title of Surveyor Level I-A, incumbents will be assigned to Level I-B at a salary of no less than the "new hire min" for Level I-B. Upon completion of two years of qualifying active or inactive City Service, such employees at Level I-B shall be paid no less than the "Incumbent Min" that is in effect on the two (2) year anniversary of their original appointment to City Service as desribed in "Note #" above.

⁺⁺⁺⁺⁺ After one year of service at Level 1A salary, incumbents move to 1B minimum automatically.

^{##} Upon completion of one year at Assignment Level I, employees shall be paid no less than the indicated minimum for incumbents at Assignment Level I that is in effect on their one year of service anniversaries.

^{*} To be deleted

^{**} This title was revised pursuant to DCAS Resolution # 2011-16 dated August 3, 2011.

004PApage9 19-1

UNIT: ENGINEERING/SCIENTIFIC

CBU CODE: 004 UNION: DC 37

EFFECTIVE DATE: October 26, 2019 3%

	Effective 10/25/19				Effective 10/26/19			
		Hired on	Incumbents		Hired on	Incumbents		
TITLE		or After	Hired Prior	10/25/19	or After	Hired Prior	10/26/2019	
CODE	TITLE	7/1/02	to 7/1/02	Minimum	7/1/02	to 7/1/02	Minimum	
							_	
91001	Instrumentation Specialist							
	Level I	\$52,079	\$53,988		\$53,641	\$55,608		
	Level II	\$63,104	\$65,662		\$64,997	\$67,632		
	Level III	\$72,595	\$74,417		\$74,773	\$76,650		
91000	Instrumentation Specialist Trainee ##							
	New Hire			\$36,299			\$37,388	
	After 1 year			\$37,877			\$39,013	
	After 2 years			\$47,344			\$48,764	

Note:

[#] Pursuant to a Stipulation of Settlement dated November 26, 2002 establishing these titles.

^{##} Instrumentation Specialist is a trainee class of positions with a probationary period of 48 months. At the end of 36 months of satisfactory training and service, permanent employees in this class of positions will advance without further examination, to the title and salary of Instrumentation Specialist (91001) (Level I). The last 12 months of probationary service will be served in the higher title.

UNIT: **ENGINEERING/SCIENTIFIC**

CBU CODE: 004 **UNION:** DC 37

October 26, 2019 3% EFFECTIVE DATE:

RECURRING INCREMENT PAYMENT **

Years of	10/25/19	10/25/19	10/26/19	10/26/19
<u>Service</u>	<u>Increment</u>	Total RIP	<u>Increment</u>	Total RIP
After 1	\$149	\$149	\$153	\$153
After 2	\$149	\$298	\$153	\$306
After 3	\$149	\$447	\$153	\$459
After 4	\$149	\$596	\$153	\$612
After 5	\$150	\$746	\$155	\$767
After 6	\$150	\$896	\$155	\$922
After 7	\$150	\$1,046	\$155	\$1,077
After 8	\$150	\$1,196	\$155	\$1,232
After 9	\$150	\$1,346	\$155	\$1,387
After 10	\$150	\$1,496	\$155	\$1,542
After 11	\$150	\$1,646	\$155	\$1,697
After 12	\$150	\$1,796	\$155	\$1,852
After 13	\$150	\$1,946	\$155	\$2,007
After 14	\$150	\$2,096	\$155	\$2,162
After 15	\$150	\$2,246	\$155	\$2,317
After 16	\$150	\$2,396	\$155	\$2,472
After 17	\$150	\$2,546	\$155	\$2,627
After 18	\$151	\$2,697	\$156	\$2,783
After 19	\$151	\$2,848	\$156	\$2,939
r 20 or more	\$151	\$2,999	\$156	\$3,095

After 20 or more **TITLE** <u>CODE</u> **TITLE** 20610 Air Pollution Control Engineer @ 20602 Air Poll. Control Eng. Intern @ 20604 Air Poll. Control Engineering Trainee 31315 Air Pollution Inspector Architect (incl. specialty) 21215,16, 212150 21205, 212050 Architectural Intern 06106 Architectural Specialist @ 31312 Asbestos Hazard Investigator 20605 Asst. Air Pollution Control Eng. @ Asst. Architect 21210, 212100 91696 Asst. Area Manager of School Maint. 20510 Asst. Chemical Engineer 21810,11, 218100 Asst. Chemist (Incl. speciality)@ 20210, 202100 Asst. Civil Engineer 22360 Asst. Coord. of Hghwy Trans. Studies 20612 Asst. Director of Technical Services (APC) 20603 Asst. Director of Technical Services (EISS) Asst. Elec. Eng. 20310, 203100

20710 Asst. Engineer (Accounting) 20112,03782,09517 Asst. Eng. Tech.(JOP) 20617 Asst. Environmental Engineer

21910 Asst. Geologist

22081, 220810 Asst. Health Facilities Planner Asst. Highway Transportation Spec. 22305 21310 Asst. Landscape Architect

Asst. Mechanical Engineer 20410, 204100 22010,1,2,3, 220100-30 Asst. Physicist (Incl. spec.) @ 22405 Asst. Plan Examiner (Bldgs)

Asst. Planner 22110

22420 Asst. Project Coordinator

22515 Asst. Project Development Coord.

22502 Asst. Project Manager

UNIT: ENGINEERING/SCIENTIFIC

CBU CODE: 004 UNION: DC 37

TITLE

EFFECTIVE DATE: October 26, 2019 3%

RECURRING INCREMENT PAYMENT **

10/25/19	10/25/19	10/26/19	10/26/19
<u>Increment</u>	Total RIP	<u>Increment</u>	Total RIP
\$149	\$149	\$153	\$153
\$149	\$298	\$153	\$306
\$149	\$447	\$153	\$459
\$149	\$596	\$153	\$612
\$150	\$746	\$155	\$767
\$150	\$896	\$155	\$922
\$150	\$1,046	\$155	\$1,077
\$150	\$1,196	\$155	\$1,232
\$150	\$1,346	\$155	\$1,387
\$150	\$1,496	\$155	\$1,542
\$150	\$1,646	\$155	\$1,697
\$150	\$1,796	\$155	\$1,852
\$150	\$1,946	\$155	\$2,007
\$150	\$2,096	\$155	\$2,162
\$150	\$2,246	\$155	\$2,317
\$150	\$2,396	\$155	\$2,472
\$150	\$2,546	\$155	\$2,627
\$151	\$2,697	\$156	\$2,783
\$151	\$2,848	\$156	\$2,939
\$151	\$2,999	\$156	\$3,095
	Increment \$149 \$149 \$149 \$149 \$150 \$150 \$150 \$150 \$150 \$150 \$150 \$150	Increment Total RIP \$149 \$149 \$149 \$298 \$149 \$447 \$149 \$596 \$150 \$746 \$150 \$1,046 \$150 \$1,196 \$150 \$1,346 \$150 \$1,646 \$150 \$1,796 \$150 \$1,946 \$150 \$2,096 \$150 \$2,246 \$150 \$2,396 \$151 \$2,697 \$151 \$2,848	Increment Total RIP Increment \$149 \$149 \$153 \$149 \$298 \$153 \$149 \$447 \$153 \$149 \$596 \$153 \$150 \$746 \$155 \$150 \$896 \$155 \$150 \$1,046 \$155 \$150 \$1,346 \$155 \$150 \$1,496 \$155 \$150 \$1,646 \$155 \$150 \$1,796 \$155 \$150 \$1,946 \$155 \$150 \$2,096 \$155 \$150 \$2,246 \$155 \$150 \$2,396 \$155 \$150 \$2,396 \$155 \$150 \$2,546 \$155 \$151 \$2,697 \$156 \$151 \$2,848 \$156

TITLE <u>CODE</u> 22516 Asst. Project Services Specialist 21511 Asst. Scientist (Radiation Control) 20311 Asst. Signal Circuit Engineer 80181 Asst. Space Analyst @ 34210, 03781, 342100 Asst. Supt. of Const. @ 91355 Asst. Supt. of Const. and Repairs Asst. Suprvsr. of Electrical Inst. 34208 34209 Asst. Suprvsr. of Mechanical Inst. 21010 Asst. Surveyor @ 21005 Asst. Surveyor Trainee @ 22092 Asst. Urban Designer 31316 Associate Air Pollution Inspector 21822,963010, 20, 30 **Associate Chemist** 22123 Associate City Planner @ 20118,961710, 20 Assoc. Engineering Tech. 91416 Associate Graphic Artist @ 22508 Assoc. Housing Development Spec. Associate Landmarks Preservationist 92238 22427 Associate Project Manager 80183 Associate Space Analyst @ 22124 Associate Urban Designer **Automotive Specialist** 20130 71411 Cartographer (Civil Defense) Chem. Biolog. & Rdiolgicl. Officer(C.D.) 71435 20515 Chemical Engineer Chemical Engineering Intern 20503 21815-21, 218150 Chemist (Incl. specialties) Chemist Trainee @ 21801 Chief Suprvsr. of Mech. Installations 34265 22122 City Planner 22121 City Planning Technician 21744, 217440/50/60/70 *** City Research Scientist

UNIT: ENGINEERING/SCIENTIFIC

CBU CODE: 004 UNION: DC 37

EFFECTIVE DATE: October 26, 2019 3%

RECURRING INCREMENT PAYMENT **

Years of	10/25/19	10/25/19	10/26/19	10/26/19
<u>Service</u>	<u>Increment</u>	Total RIP	<u>Increment</u>	Total RIP
After 1	\$149	\$149	\$153	\$153
After 2	\$149	\$298	\$153	\$306
After 3	\$149	\$447	\$153	\$459
After 4	\$149	\$596	\$153	\$612
After 5	\$150	\$746	\$155	\$767
After 6	\$150	\$896	\$155	\$922
After 7	\$150	\$1,046	\$155	\$1,077
After 8	\$150	\$1,196	\$155	\$1,232
After 9	\$150	\$1,346	\$155	\$1,387
After 10	\$150	\$1,496	\$155	\$1,542
After 11	\$150	\$1,646	\$155	\$1,697
After 12	\$150	\$1,796	\$155	\$1,852
After 13	\$150	\$1,946	\$155	\$2,007
After 14	\$150	\$2,096	\$155	\$2,162
After 15	\$150	\$2,246	\$155	\$2,317
After 16	\$150	\$2,396	\$155	\$2,472
After 17	\$150	\$2,546	\$155	\$2,627
After 18	\$151	\$2,697	\$156	\$2,783
After 19	\$151	\$2,848	\$156	\$2,939
20 or more	\$151	\$2,999	\$156	\$3,095

TITLE CODE TITLE

20215-20, 202150

Civil Engineer (incl. specs.)

Civil Engineering Drafter

Civil Engineering Intern

Civil Engineering Trainee

22117 Community Planning Board Coord.
91603 Comp. Facilities Maintainer (FISA)
00103, 001030 Construction Management Asst.
34217-18, 342180 Const. Mangr.(Incl. spec.) @
34202, 962510-30 Construction Project Manager
34201 Construction Project Manager Intern

After

21849 Criminalist

Dir. of Intersectional Traffic Control
20315-20, 203150, 60
Elec. Engineer (Incl. specs.)
20305
Electrical Engineering Drafter
20302, 203020
Electrical Engineering Intern
Electrical Engineering Trainee
20715,20815
Engineer (Accounting) (CE & S)
20915-19
Engineer-Assessor (all specs.)

20101 Engineering Aide
06019 Engineering Specialist @
20113,961610, 20 Engineering Tech. (Incl. spec.)
09456 Engineering Technician Aide (JOP)
20111 201110 Eng Tech Trainee

20111, 201110 Eng. Tech. Trainee
20100 Eng. Work Study Trainee
90971 Environmental Control Technician

20618 Environmental Engineer

20616 Environmental Engineering Intern 20121,22,23 Estimator (Incl. specs.)

20121,22,23 Estimator (Incl. specs.)
06524 Forensic Analyst(OCME)
06525 Forensic Scientist(OCME)

81361 Forester

34266,67, 342670 General Supt. of Construction (Incl spec.) @

UNIT: ENGINEERING/SCIENTIFIC

CBU CODE: 004 UNION: DC 37

EFFECTIVE DATE: October 26, 2019 3%

RECURRING INCREMENT PAYMENT **

Years of	10/25/19	10/25/19	10/26/19	10/26/19
<u>Service</u>	Increment	Total RIP	Increment	Total RIP
After 1	\$149	\$149	\$153	\$153
After 2	\$149	\$298	\$153	\$306
	•	·	·	· · · · · · · · · · · · · · · · · · ·
After 3	\$149	\$447	\$153	\$459
After 4	\$149	\$596	\$153	\$612
After 5	\$150	\$746	\$155	\$767
After 6	\$150	\$896	\$155	\$922
After 7	\$150	\$1,046	\$155	\$1,077
After 8	\$150	\$1,196	\$155	\$1,232
After 9	\$150	\$1,346	\$155	\$1,387
After 10	\$150	\$1,496	\$155	\$1,542
After 11	\$150	\$1,646	\$155	\$1,697
After 12	\$150	\$1,796	\$155	\$1,852
After 13	\$150	\$1,946	\$155	\$2,007
After 14	\$150	\$2,096	\$155	\$2,162
After 15	\$150	\$2,246	\$155	\$2,317
After 16	\$150	\$2,396	\$155	\$2,472
After 17	\$150	\$2,546	\$155	\$2,627
After 18	\$151	\$2,697	\$156	\$2,783
After 19	\$151	\$2,848	\$156	\$2,939
After 20 or more	\$151	\$2,999	\$156	\$3,095

TITLE CODE TITLE

91396 General Supt. of Const. and Repairs 91673-75 Gen. Sup. of Building Maint.(all fields) @

21915 Geologist Level I, II @ @
21901 Geologist Trainee
91415 Graphic Artist

22082, 220820 Health Facilities Planner

Highway Transportation Specialist
 Housing Development Specialist
 Housing Development Spec. Trainee

91410, 914100 Illustrator

31305 Industrial Hygienist

90722, 907220 Instrument Maker (Radiology) 91001 Instrumentation Specialist

91000 Instrumentation Specialist Trainee

 21206, 212060
 Junior Architect

 21805, 218050
 Junior Chemist

 20206, 202060
 Junior Civil Engineer

 20102
 Junior Drafter

20306, 203060

Junior Electrical Engineer

2080, 220800

Junior Health Facilities Planner

20406, 204060

Junior Mechanical Engineer

Landmarks Preservationist

Landmarks Preservation Spec.

21315
Landscape Architect
21306
Landscape Arch. Intern
06753
Marine Electronics Technician
91574
Marine Electronics Technician (DOT)
91576
Marine Electronics Technician (DEP)
20415-18, 204150
Mechanical Eng. (Incl. specs.)

20405 Mechanical Eng. Drafter 20403, 204030 Mechanical Eng. Intern

90690, 906900 Medical Equipment Repair Technician

UNIT: **ENGINEERING/SCIENTIFIC**

CBU CODE: 004 **UNION:** DC 37

October 26, 2019 3% EFFECTIVE DATE:

RECURRING INCREMENT PAYMENT **

Years of	10/25/19	10/25/19	10/26/19	10/26/19
<u>Service</u>	<u>Increment</u>	Total RIP	<u>Increment</u>	Total RIP
After 1	\$149	\$149	\$153	\$153
After 2	\$149	\$298	\$153	\$306
After 3	\$149	\$447	\$153	\$459
After 4	\$149	\$596	\$153	\$612
After 5	\$150	\$746	\$155	\$767
After 6	\$150	\$896	\$155	\$922
After 7	\$150	\$1,046	\$155	\$1,077
After 8	\$150	\$1,196	\$155	\$1,232
After 9	\$150	\$1,346	\$155	\$1,387
After 10	\$150	\$1,496	\$155	\$1,542
After 11	\$150	\$1,646	\$155	\$1,697
After 12	\$150	\$1,796	\$155	\$1,852
After 13	\$150	\$1,946	\$155	\$2,007
After 14	\$150	\$2,096	\$155	\$2,162
After 15	\$150	\$2,246	\$155	\$2,317
After 16	\$150	\$2,396	\$155	\$2,472
After 17	\$150	\$2,546	\$155	\$2,627
After 18	\$151	\$2,697	\$156	\$2,783
After 19	\$151	\$2,848	\$156	\$2,939
After 20 or more	\$151	\$2,999	\$156	\$3,095

TITLE

CODE **TITLE**

Medical Equipment Specialist 90691, 906910

32815 Painting Inspector

22015-18, 220150,70,80 Physicist (Levels I, II, III) (including specialties @)

22001 Physicist Trainee @ Plan Examiner (Buildings) 22410

Planner 22115

Planner Trainee 22107

20620 Prin. Air Poll. Control Engineer 31360 Principal Air Pollution Inspector 20550 Principal Chemical Engineer Principal Chemist (Incl. specs.) 21835-37, 218350 20250,20260 Prin. Civil Eng. (Incl. specs.) 20350 Principal Electrical Engineer

Principal Engineer 21130 **Principal Illustrator** 91460,03818

20450 Principal Mechanical Engineer

22030 Principal Physicist @ **Principal Planner** 22130,03816

21770, 217700 Prin. Res. Scientist (Biolog. Sciences)

Principal Urban Designer 22095 22421,03718 Project Coordinator Proj. Development Coord. 22525 Proj. Development Coord. Trainee 22504 22426 Project Manager (Other than HHC) Project Manager (HHC only) Level I, II 224260, 70

039710 Project Manager (HHC only) 22425 Project Manager Intern **Project Services Specialist** 22526 Radio Repair Technician 00457, 004570 Research Scientist 21755 31617,05609, 316170 Safety Officer

05799, 31310 Safety Specialist

UNIT: ENGINEERING/SCIENTIFIC

CBU CODE: 004 UNION: DC 37

EFFECTIVE DATE: October 26, 2019 3%

RECURRING INCREMENT PAYMENT **

Years of	10/25/19	10/25/19	10/26/19	10/26/19
<u>Service</u>	<u>Increment</u>	Total RIP	<u>Increment</u>	Total RIP
After 1	\$149	\$149	\$153	\$153
After 2	\$149	\$298	\$153	\$306
After 3	\$149	\$447	\$153	\$459
After 4	\$149	\$596	\$153	\$612
After 5	\$150	\$746	\$155	\$767
After 6	\$150	\$896	\$155	\$922
After 7	\$150	\$1,046	\$155	\$1,077
After 8	\$150	\$1,196	\$155	\$1,232
After 9	\$150	\$1,346	\$155	\$1,387
After 10	\$150	\$1,496	\$155	\$1,542
After 11	\$150	\$1,646	\$155	\$1,697
After 12	\$150	\$1,796	\$155	\$1,852
After 13	\$150	\$1,946	\$155	\$2,007
After 14	\$150	\$2,096	\$155	\$2,162
After 15	\$150	\$2,246	\$155	\$2,317
After 16	\$150	\$2,396	\$155	\$2,472
After 17	\$150	\$2,546	\$155	\$2,627
After 18	\$151	\$2,697	\$156	\$2,783
After 19	\$151	\$2,848	\$156	\$2,939
After 20 or more	\$151	\$2,999	\$156	\$3,095

TITLE CODE TITLE

21516 Scientist (Radiation Control) Level I, II, III

21538 Scientist (Water Ecology)

21537 Scientist (Water Ecology) Trainee
20615 Sr. Air Pollution Control Engineer
31335 Senior Air Pollution Inspector
21225-26, 212250 Senior Architect (Incl. specialties)
20131 Senior Automotive Specialist
20525 Senior Chemical Engineer
21825-31 Senior Chemist (Incl. specialties)
20235-23, 202350 Sr. Civil Engineer (Incl. specialties)

21825-31 Senior Chemist (Incl. specialtie 20225-32, 202250 Sr. Civil Engineer (Incl. spec.) 20325-29, 203250 Sr. Electrical Eng. (Incl. spec.) 20725 Senior Engineer (Accounting) 20825 Senior Engineer (Safety) 20234 Senior Engineer (Cranes) 20920 Senior Engineer-Assessor

20114, 16, 09518,03806 Sr. Engineering Tech. (Incl. spec.JOP)
90972 Sr. Environmental Control Tech.
20126-28 Senior Estimator (Incl. specialties)

21925 Senior Geologist

22083, 220830
 22325
 33335
 Senior Health Facilities Planner
 Sr. Highway Transportation Spec. @
 Senior Hull & Machinery Inspector

91435, 914350 Senior Illustrator

20625 Senior Industrial Engineer 21325 Senior Landscape Architect

20425-28, 204250 Sr. Mechanical Engineer (Incl. specs.)

21950 Senior Meteorologist 32835 Senior Painting Inspector

22025-29, 220250,60,70 Senior Physicist (Incl. specialties) @ 22411 Senior Plan Examiner (Buildings)

22125 Senior Planner

22422 Senior Project Coordinator

UNIT: ENGINEERING/SCIENTIFIC

CBU CODE: 004 UNION: DC 37

EFFECTIVE DATE: October 26, 2019 3%

RECURRING INCREMENT PAYMENT **

Years of	10/25/19	10/25/19	10/26/19	10/26/19
<u>Service</u>	<u>Increment</u>	Total RIP	<u>Increment</u>	Total RIP
After 1	\$149	\$149	\$153	\$153
After 2	\$149	\$298	\$153	\$306
After 3	\$149	\$447	\$153	\$459
After 4	\$149	\$596	\$153	\$612
After 5	\$150	\$746	\$155	\$767
After 6	\$150	\$896	\$155	\$922
After 7	\$150	\$1,046	\$155	\$1,077
After 8	\$150	\$1,196	\$155	\$1,232
After 9	\$150	\$1,346	\$155	\$1,387
After 10	\$150	\$1,496	\$155	\$1,542
After 11	\$150	\$1,646	\$155	\$1,697
After 12	\$150	\$1,796	\$155	\$1,852
After 13	\$150	\$1,946	\$155	\$2,007
After 14	\$150	\$2,096	\$155	\$2,162
After 15	\$150	\$2,246	\$155	\$2,317
After 16	\$150	\$2,396	\$155	\$2,472
After 17	\$150	\$2,546	\$155	\$2,627
After 18	\$151	\$2,697	\$156	\$2,783
After 19	\$151	\$2,848	\$156	\$2,939
After 20 or more	\$151	\$2,999	\$156	\$3,095

TITLE TITLE CODE 22530 Senior Project Development Coord. 22531 Senior Project Services Specialist Senior Scientist (Radiation Control) 21526 34235 Sr. Suprvsr. of Mechanical Installations Senior Traffic Control Inspector @ 31735 22094 Senior Urban Designer Sr. Waterfront Construction Insp. 34535 80184 Space Analyst - Level I, II @ 34215, 342150 Supt. of Construction @ 91375 Supt. of Construction and Repairs 31355 Supervising Air Pollution Inspector Supvsg. Environmental Control Tech. 90973 33355 Supervising Hull & Machinery Insp. 31750 Supervising Traffic Control Inspector @ 91670-2 Supvr. of Building Maint.(All Fields) @ Supervisor of Diesel Engine Maint. 91642 34220 Supervisor of Electrical Installations 34216 Supervisor of Mechanical Installations 34205 Supvsr. of Electrical Installations & Maintenance 34221 Supvsr. of Mech. Installations & Maintenance 21015 Tax Map Cartographer 21006 20238 Telemetric Systems Specialist 31715 Traffic Control Inspector 92248 **Urban Archeologist Urban Designer** 22093 Urban Designer Trainee 22090 Urban Technician 22100 34515 Waterfront Construction Inspector

UNIT: ENGINEERING/SCIENTIFIC

CBU CODE: 004 UNION: DC 37

EFFECTIVE DATE: October 26, 2019 3%

RECURRING INCREMENT PAYMENT **

Years of	10/25/19	10/25/19	10/26/19	10/26/19
<u>Service</u>	<u>Increment</u>	Total RIP	<u>Increment</u>	Total RIP
After 1	\$149	\$149	\$153	\$153
After 2	\$149	\$298	\$153	\$306
After 3	\$149	\$447	\$153	\$459
After 4	\$149	\$596	\$153	\$612
After 5	\$150	\$746	\$155	\$767
After 6	\$150	\$896	\$155	\$922
After 7	\$150	\$1,046	\$155	\$1,077
After 8	\$150	\$1,196	\$155	\$1,232
After 9	\$150	\$1,346	\$155	\$1,387
After 10	\$150	\$1,496	\$155	\$1,542
After 11	\$150	\$1,646	\$155	\$1,697
After 12	\$150	\$1,796	\$155	\$1,852
After 13	\$150	\$1,946	\$155	\$2,007
After 14	\$150	\$2,096	\$155	\$2,162
After 15	\$150	\$2,246	\$155	\$2,317
After 16	\$150	\$2,396	\$155	\$2,472
After 17	\$150	\$2,546	\$155	\$2,627
After 18	\$151	\$2,697	\$156	\$2,783
After 19	\$151	\$2,848	\$156	\$2,939
After 20 or more	\$151	\$2,999	\$156	\$3,095

TITLE CODE

TITLE NOTE:

- @ To be deleted.
- @@ This title was revised pursuant to DCAS Resolution # 2011-16 dated August 3, 2011.
 - ** Full-time per annum and qualifying full-time per diem employees covered by the 2008-10 Engineering & Scientific Agreement shall be eligible to receive the Recurring Increment Payment (RIP) set forth above.

The RIP shall be based upon years of City service and shall be paid in addition to the Service Increment set forth in Section 9, the longevity differential set forth in Section 10 or the longevity increment set forth Section 11 of the 2008-2010 Engineering/Scientific Agreement. RIPs shall be payable January 1, April 1, July 1, or October 1 subsequent to the qualifying employee's anniversary date, subject to the eligibility rules set forth in Appendix B of this agreement.

*** Effective July 31, 2015, This citywide title is established and designated only for present Correctional Health Services incumbent(s) functionally transferred into HHC from DOHMH

CBU CODE: 004

UNION: LOCAL 375, DC 37

EFFECTIVE DATE: OCTOBER 26, 2019 (NO INCREASE)

15 YEAR LONGEVITY - \$800

20602 Air Pollution Control Engineering Intern *
20604 Air Pollution Control Engineering Trainee

31315 Air Pollution Inspector 21205, 212050 Architectural Intern

31312 Asbestos Hazard Investigator

20112,03782,09517 Assistant Engineering Technician (incl. JOP & OTB) @

22305 Assistant Highway Transportation Specialist

20118*,961710/20 Associate Engineering Technician (Incl. OTB) (All levels)

91416 Associate Graphic Artist @ Cartographer (Civil Defense) 20503 Chemical Engineering Intern

21801 Chemist Trainee

22121 City Planning Technician
20205 Civil Engineering Drafter @
20202, 202020 Civil Engineering Intern
20201 Civil Engineering Trainee @

Community Planning Board Coordinator
Computer Equipment Design Trainee (OTB)

91603 Comp. Facilities Maintainer (FISA)
001030 Construction Management Assistant
34201 Construct Project Manager Intern

21849 Criminalist

20305 Electrical Engineering Drafter @ 20302, 203020 Electrical Engineering Intern 20301 Electrical Engineering Trainee @

20101 Engineering Aide

09933,03768,20113,961610, 20 Engineering Tech. (Incl. spec. JOP & OTB) (All levels)

09456 Engineering Technician Aide (JOP)

20111,03769, 201110 Engineering Technician Trainee (Incl. OTB)

20100 Engineering Work Study Trainee 90971 Environmental Control Technician * 20616 Environmental Engineering Intern

06524 Forensic Analyst(OCME)
06525 Forensic Scientist(OCME)

81361 Forester

21901 Geologist Trainee 91415 Graphic Artist

22506 Housing Development Specialist Trainee

91410, 914100 Illustrator (incl. OTB) @ 31305 Industrial Hygienist

91001 Instrumentation Specialist

91000 Instrumentation Specialist Trainee

CBU CODE: 004

UNION: LOCAL 375, DC 37

EFFECTIVE DATE: OCTOBER 26, 2019 (NO INCREASE)

15 YEAR LONGEVITY - \$800

Mechanical Engineering Intern

 21206, 212060
 Junior Architect @

 21805, 218050
 Junior Chemist @

 20206, 202060
 Junior Civil Engineer @

20102 Junior Drafter @

20306, 203060 Junior Electrical Engineer @ 22080, 220800 Junior Health Facilities Planner 20406, 204060 Junior Mechanical Engineer @ 21306 Landscape Architectural Intern 06753 Marine Electronics Technician 91574 Marine Electronics Technician (DOT) Marine Electronics Technician (DEP) 91576 Mechanical Engineering Drafter @ 20405

90690, 906900 Medical Equipment Repair Technician

32815 Painting Inspector 22001 Physicist Trainee 22107 Planner Trainee @

20403, 204030

31360 Principal Air Pollution Inspector 91460,03818 Principal Illustrator (Incl. OTB) @

22504 Project Development Coordinator Trainee @

22425 Project Manager Intern
004570 Radio Repair Technician
31617,05609, 316170 Safety Officer (Incl. OTB)

31310 Safety Specialist

21537 Scientist (Water Ecology) Trainee

31335 Senior Air Pollution Inspector

20114, 16 Senior Engineering Technician (Incl. spec.) @

09518, 03806 (JOP & OTB)

90972 Senior Environmental Control Technician *

33335 Senior Hull & Machinery Inspector

91435, 914350 Senior Illustrator (incl.OTB)
32835 Senior Painting Inspector
31735 Senior Traffic Control Inspector

34535 Senior Waterfront Construction Inspector 31355 Supervising Air Pollution Inspector

Supervising Air Poliution inspector

90973 Supervising Environmental Control Technician *
33355 Supervising Hull & Machinery Inspector

31750 Supervising Traffic Control Inspector

21006 Tax Map Cartographer 31715 Traffic Control Inspector 22090 Urban Designer Trainee 22100 Urban Technician

34515 Waterfront Construction Inspector

NOTE:

@ For present incumbents only

004LP 19-3/3

UNIT: ENGINEERING/SCIENTIFIC

CBU CODE: 004

UNION: LOCAL 375, DC 37

EFFECTIVE DATE: OCTOBER 26, 2019 (NO INCREASE)

15 YEAR LONGEVITY - \$800

NOTE:

** An incumbent employee who was in the below title(s), as implemented on

October 28, 2018, with 15 years of more of "City" service in pay status shall be eligible to

receive a longevity increment of \$800 per annum. The rules for eligibility for the longevity
increment are set forth in Appendix A of the Unit Agreement.

A covered employee entering the title after October 28, 2018 shall not be eligible.

TITLE

<u>CODE</u> <u>TITLE</u>

1000DAdministrative Graphic Artist**1003DAdministrative Space Analyst**1007CAdministrative Horticulturist**

CBU CODE: 004

UNION: LOCAL 375, DC 37
EFFECTIVE DATE: OCTOBER 26, 2019 3%

ASSIGNMENT DIFFERENTIAL

_	. —		_
т		_	
			_

11166			
CODE	<u>TITLE</u>	<u>10/25/19</u>	<u>10/26/19</u>
60611	Program Manager		
	-Difficult Duties and Responsibilities	\$1,581	\$1,628
21744	City Research Scientist		
	-Assistant Director, Bureau of Laboratories,	\$3,293	\$3,392
	Virology/Immunology		
21755	Research Scientist		
	-Assistant Director, Bureau of Laboratories,	\$3,293	\$3,392
	Virology/Immunology		

NOTE:

The following assignment differentials may be authorized to be paid in the indicated amounts set forth below to employees pursuant to the conditions and procedures set forth in Article XVI of the 2002 Engineering/Scientific Agreement. Such differentials shall only be paid for the duration of the eligible assignment and shall be retroactive to the date of such assignment, except that no differential submitted after March 31, 1997 shall be granted with an effective date prior to April 1, 1995.

Full Differentials to the following:

Squad leader - When assigned as working supervisor of a "squad" of 4 or more para-professionals or professionals, provided at least one such employee is in the same title or an eligible title within the same sub group of section 1.

Plan Review - major part of job duties to review the design and shop drawing of consulting engineers contracted by the city.(Such assignments do not include field engineering positions or field design changes.)

Notwithstanding the limitation of this subsection to review of design and shop drawings "of consulting engineers contracted by the City," employees of the Department of Buildings in eligible titles listed in Section 1(c) of the contract, shall be deemed eligible for the differential set forth herein when assigned as the major part of their job duties to review of design and shop drawings.

Signing and Sealing - Effective July 1, 1994, an Architect Level I (all specialties), Engineer Level I (all fields & specialties) or Landscape Architect Level I when assigned in writing on a regular basis to utilize his/her valid New York State Professional Architect's or Engineer's License to sign and seal architectural/engineering and other official documents prepared by professional employees other than the employee him/herself.

Half Differentials to the following:

Assistant Squad Leader - When assigned as deputy to a supervisor of a squad of 5 or more para-professionals or professionals provided at least one such employee in addition to the squad leader is in the same title or eligible title with in the same sub-group of section 1.

Section Engineer - When directing the maintenance crew responsible for the maintenance of the upstate water supply system.

^{*} For present incumbents only

CBU CODE: 004

UNION: LOCAL 375, DC 37 **EFFECTIVE DATE:** OCTOBER 26, 2019 3%

ASSIGNMENT DIFFERENTIAL

ELIGIBLE TITLES 10/25/19 10/26/19

21210, 03716, 212100 **Assistant Architect**

20617, 20510 Assistant Engineer(all field & specialties)

20210, 20310, 202100 05574, 20710, 203100

20410, 20311, 204100

20605 ****

Assistant Landscape Architect 21310

Assistant Planner * 22110,05524

22515 Assistant Project Development Coordinator *

Assistant Project Coordinator 22420, 05561

34210, 03766, 342100 Assistant Superintendent of Construction * Half \$788 \$812

\$1,572 03781 Full \$1,619

City Planner Level I 22122

34202, 962510 Construction Project Manager Level I 22507 Housing Development Specialist Level I 22426 Project Manager (Other than HHC) 91670-2 Supervisor of Building Maintenance

34205 Supervisor of Electrical Installations & Maintenance Level I 34221 Supervisor of Mechanical Installations & Maintenance Level I

Architect Level I (all specs.)

ELIGIBLE TITLES 10/25/19 10/26/19

21215,21516, 212150

21315

21822 ****, 963010 Associate Chemist Level II

22427 Associate Project Manager Level I

21815-21, 218150 Chemist *

22122 City Planner Level II Half \$911 \$938 Full \$1,816 \$1,870

34202, 962520 Construction Project Manager Level II Engineer Level I (all fields & specs.)

20515, 20618,(20610***)

20215-20, 202150

20315-20, 203150, 60

20715, 20815 20915-19

20415-18, 204150

91673-75 General Supervisor of Building Maintenance(all fields)

Housing Development Specialist Level II 22507

21315 Landscape Architect Level I

22115 Planner

22421, 03718 **Project Coordinator**

Project Development Coordinator * 22525 34215, 03796, 342150 Superintendent of Construction *

34205 Supervisor of Electrical Installations & Maintenance Level II 34221 Supervisor of Mechanical Installations & Maintenance Level II

CBU CODE: 004

UNION: LOCAL 375, DC 37 EFFECTIVE DATE: OCTOBER 26, 2019 3%

ASSIGNMENT DIFFERENTIAL

ELIGIBLE TITLES	<u>10/25/19</u>	<u>10/26/19</u>
-----------------	-----------------	-----------------

22123 Associate City Planner I ***
21822 ****, 963020 Associate Chemist Level III

22508 Associate Housing Development Specialist 22427 Associate Project Manager Level II

22122 City Planner Level III

34202, 962530 Construction Project Manager Level III **

34266, 67, 342670 General Superintendent of Construction(all specs.) * Half \$1,011 \$1,041 \$21225-26, 21325, 212250 Senior Architect(all Specialties) * Full \$2,014 \$2,074

20615, 20525 Senior Civil Engineer(all Fields and Specialties) *

20225-32, 202250

20325-29, 20725, 203250

20825, 20234 20920, 20625 20425-28, 204250

21325 Senior Landscape Architect *

22125, 03801 Senior Planner *

22422 Senior Project Coordinator

22530 Senior Project Development Coordinator *

* For present incumbents only

** Except for employees reclassified from Construction

Manager (all specialties)

*** To be deleted

**** This title was revised pursuant to DCAS Resolution # 2012-5 dated February 1, 2012.

ASSIGNMENT DIFFERENTIAL

Т	ľ	Т	ı	F
•	•	•	ᆫ	_

<u>CODE</u> <u>TITLE</u>

		<u>10/25/19</u>	<u> 10/26/19</u>
22427	Associate Project Manager	\$2,060	\$2,122
	 In Mayoral agencies only, who supervise contract employees# 		

34202 Construction Project Manager
- In Mayoral agencies only, who supervise contract employees#

This assignment differential shall be applicable to employees in the titles Associate Project Manager and Construction Project Manager in mayoral agencies¹ who, as a

substantial portion of their regular duties and responsibilities, directly oversee or review

the work of contractors.

¹Mayoral Agencies excludes NYCHA, H+H, DOE, CUNY, Cultural Institutions, and the Public Libraries

\$2,060

\$2,122

CBU CODE: 004

TITLE

UNION: LOCAL 375, DC 37
EFFECTIVE DATE: October 26, 2019 3%

ADVANCEMENT INCREASE

NOTE:

* For present incumbents only

CODE	TITLE	10/25/19	10/26/19
20610	Air Pollution Control Engineer **	\$2,013	\$2,073
21215, 16, 212150	Architect (Incl spec)	\$2,013	\$2,073
06106	Architectural Specialist Level I	\$2,617	\$2,696
20605	Assistant Air Pollution Control Engineer **	\$1,831	\$1,886
03716,21210, 212100	Assistant Architect	\$1,831	\$1,886
91696	Asst. Area Manager of School Maintenance	\$2,398	\$2,470
20510	Assistant Chemical Engineer	\$1,831	\$1,886
21810, 11 **, 218100	Assistant Chemist (Incl spec)	\$1,831	\$1,886
20210, 202100	Assistant Civil Engineer	\$1,831	\$1,886
22360	Asst Coord of Highway Transportation Studies **	\$2,398	\$2,470
10086	Asst Dir of Technical Services (Air Pollution Control)	\$2,521	\$2,597
10088	Asst Dir of Tech Services	\$2,521	\$2,597
	(Emissions Inventory-Stationary Sources)		
20310,05574, 203100	Assistant Electrical Engineer	\$1,831	\$1,886
20710	Assistant Engineer (Accounting)	\$1,831	\$1,886
20617	Assistant Environmental Engineer	\$1,831	\$1,886
22081, 220810	Assistant Health Facilities Planner	\$2,013	\$2,073
21310	Assistant Landscape Architect	\$1,831	\$1,886
20410, 204100	Assistant Mechanical Engineer	\$1,831	\$1,886
22405	Assistant Plan Examiner (Buildings)	\$2,013	\$2,073
22420,05561	Assistant Project Coordinator	\$1,831	\$1,886
20311	Assistant Signal Circuit Engineer	\$1,831	\$1,886
31316	Associate Air Pollution Inspector Level I	\$1,573	\$1,620
21822, 963010	Associate Chemist Level I (after 1 year in title)	\$1,831	\$1,886
22123	Associate City Planner **	\$2,398	\$2,470
20118, 961710	Associate Engineering Technician Level I	\$1,640	\$1,689
91416	Associate Graphic Artist **	\$1,831	\$1,886
22508	Associate Housing Development Specialist	\$2,398	\$2,470
92238	Associate Landmarks Preservationist	\$2,013	\$2,073
22427	Associate Project Manager	\$2,013	\$2,073
80183	Associate Space Analyst **	\$2,013	\$2,073
20515	Chemical Engineer	\$2,013	\$2,073
21815-21, 218510	Chemist (incl spec) *	\$2,013	\$2,073
34265	Chief Supervisor of Mechanical Installations	\$2,398	\$2,470
20215-20, 202150	Civil Engineer (incl spec)	\$2,013	\$2,073
34217, 18, 342180	Construction Manager (Incl specialty) *	\$2,398	\$2,470
22347	Director of Intersectional Traffic Control	\$2,398	\$2,470
20315-20, 203150, 60	Electrical Engineer (Incl spec)	\$2,013	\$2,073
20715,20815	Engineer (Accounting) (CE & S)	\$2,013	\$2,073
20915-19	Engineer-Assessor (all spec)	\$2,013	\$2,073
06019	Engineering Specialist Level I	\$2,617	\$2,696
20618	Environmental Engineer Level I	\$2,013	\$2,073
34266, 67, 342670	General Superintendent of Construction (Incl spec) *	\$2,398	\$2,470
91396	General Superintendent of Construction and Repairs	\$2,398	\$2,470
91673-75	General Supervisor of Bldg Maintenance (all fields)	\$2,013	\$2,073
21915	Geologist	\$2,013	\$2,073
91415	Graphic Artist Level II	\$1,831	\$1,886
22082, 220820	Health Facilities Planner	\$2,521	\$2,597

CBU CODE: 004

UNION: LOCAL 375, DC 37
EFFECTIVE DATE: October 26, 2019 3%

ADVANCEMENT INCREASE

NOTE:

* For present incumbents only

	TO be deleted.		
TITLE			
CODE	TITLE	<u>10/25/19</u>	10/26/19
21315	Landscape Architect	\$2,013	\$2,073
20415-18, 204150	Mechanical Engineer (Including specialties)	\$2,013	\$2,073
90691, 906910	Medical Equipment Specialist	\$1,831	\$1,886
220150	Physicist	\$2,013	\$2,073
22016-18 **, 220170, 80	Physicist (Electronics, Isotopes, Radiation)	\$2,013	\$2,073
22410	Plan Examiner (Buildings)	\$2,398	\$2,470
22115	Planner *	\$2,013	\$2,073
20620	Principal Air Pollution Control Engineer *	\$2,521	\$2,597
31360	Principal Air Pollution Inspector **	\$1,958	\$2,017
20550	Principal Chemical Engineer *	\$2,521	\$2,597
21835-37, 218350	Principal Chemist (Incl specialties) *	\$2,398	\$2,470
20250,20260	Principal Civil Engineer (Incl Specialties) *	\$2,521	\$2,597
20350	Principal Electrical Engineer *	\$2,521	\$2,597
21130	Principal Engineer	\$2,521	\$2,597
31658	Principal Fire Prevention Inspector	\$1,958	\$2,017
91460,03818	Principal Illustrator *	\$1,958	\$2,017
20450	Principal Mechanical Engineer *	\$2,521	\$2,597
22030	Principal Physicist **	\$2,398	\$2,470
22130,03816	Principal Planner *	\$2,398	\$2,470
22095	Principal Urban Designer *	\$2,521	\$2,597
22421,03718	Project Coordinator	\$2,013	\$2,073
22525	Project Development Coordinator *	\$2,013	\$2,073
039710	Project Manager (HHC only) **	\$2,398	\$2,470
22526	Project Services Specialist *	\$2,013	\$2,073
20615	Senior Air Pollution Control Engineer *	\$2,398	\$2,470
31335	Senior Air Pollution Inspector **	\$1,573	\$1,620
21225, 26, 212250	Senior Architect (Incl specialties) *	\$2,398	\$2,470
20131	Senior Automotive Specialist	\$2,398	\$2,470
20525	Senior Chemical Engineer *	\$2,398	\$2,470
21825-31	Senior Chemist (Incl specialties)	\$2,398	\$2,470
20225-32, 202250	Senior Civil Engineer (Incl. specs.) *	\$2,398	\$2,470
20325-29, 203250	Senior Electrical Engineer (Incl. specs.) *	\$2,398	\$2,470
20725	Senior Engineer (Accounting)	\$2,398	\$2,470
20825	Senior Engineer (Safety) *	\$2,398	\$2,470
20920	Senior Engineer - Assessor *	\$2,398	\$2,470
90972	Senior Environmental Control Technician **	\$1,640	\$1,689
20126-28	Senior Estimator (Incl specialties)	\$2,013	\$2,073
31635	Senior Fire Prevention Inspector	\$1,447	\$1,490
21925	Senior Geologist	\$2,398	\$2,470
22083, 220830	Senior Health Facilities Planner	\$2,521	\$2,597
22325	Senior Highway Transportation Specialist **	\$2,013	\$2,073
33335	Senior Hull and Machinery Inspector	\$1,573	\$1,620
20625	Senior Industrial Engineer	\$2,398	\$2,470
21325	Senior Landscape Architect *	\$2,398	\$2,470
20425-28, 204250	Senior Mechanical Engineer (Incl spec) *	\$2,398	\$2,470
21950	Senior Meteorologist	\$1,831	\$1,886
32835	Senior Painting Inspector	\$1,573	\$1,620
22025-29 **, 220250, 60, 70	Senior Physicist (Including specialties)	\$2,398	\$2,470

CBU CODE: 004

UNION: LOCAL 375, DC 37
EFFECTIVE DATE: October 26, 2019 3%

ADVANCEMENT INCREASE

NOTE:

* For present incumbents only

	10 bo dolotod.		
TITLE			
CODE	<u>TITLE</u>	<u>10/25/19</u>	10/26/19
22411	Senior Plan Examiner (Buildings)	\$2,521	\$2,597
22125,03801	Senior Planner *	\$2,398	\$2,470
22422	Senior Project Coordinator	\$2,398	\$2,470
22530	Senior Project Development Coordinator *	\$2,398	\$2,470
22531	Senior Project Services Specialist *	\$2,398	\$2,470
21526	Senior Scientist (Radiation Control) **	\$2,398	\$2,470
34235	Senior Supervisor of Mechanical Installations	\$2,398	\$2,470
31735	Senior Traffic Control Inspector	\$1,573	\$1,620
22094	Senior Urban Designer *	\$2,398	\$2,470
34535	Senior Waterfront Construction Inspector	\$1,573	\$1,620
34215,03796, 342150	Superintendent of Construction *	\$2,013	\$2,073
91375	Superintendent of Construction and Repairs	\$2,013	\$2,073
31355	Supervising Air Pollution Inspector **	\$1,766	\$1,819
90973	Supervising Environmental Control Technician **	\$1,831	\$1,886
31655	Supervising Fire Prevention Inspector	\$1,573	\$1,620
33355	Supervising Hull and Machinery Inspector	\$1,766	\$1,819
31750	Supervising Traffic Control Inspector	\$1,766	\$1,819
91642	Supervisor of Diesel Engine Maintenance	\$2,013	\$2,073
34220	Supervisor of Electrical Installations	\$2,013	\$2,073
34205	Supervisor of Electrical Installations & Maint. Level I	\$2,013	\$2,073
34216	Supervisor of Mechanical Installations	\$2,013	\$2,073
34221	Supervisor of Mechanical Installations & Maint. Level I	\$2,013	\$2,073
21015	Surveyor	\$2,398	\$2,470
20238	Telemetric Systems Specialist	\$2,398	\$2,470
31715	Traffic Control Inspector Level II	\$1,573	\$1,620
31715	Traffic Control Inspector Level III	\$1,766	\$1,819
22093	Urban Designer *	\$2,013	\$2,073

004LD 19/1

UNIT: ENGINEERING/SCIENTIFIC

CBU CODE: 004 UNION: DC 37

EFFECTIVE DATE: October 26, 2019 3%

LONGEVITY DIFFERENTIAL SCHEDULE

		10/25/19	10/26/19
	After 5 years	\$965	\$994
	After 10 years	\$1,925	\$1,983
	(additional)	(\$960)	(\$989)
	After 15 years	\$3,379	\$3,480
TITLE	(additional)	(\$1,454)	(\$1,497)

CODE TITLE

20605 Assistant Air Pollution Control Engineer **

03716,21210, 212100 Assistant Architect

20510 Assistant Chemical Engineer 21810,11 **, 218100 Assistant Chemist (Incl. speciality)

20210, 202100 Assistant Civil Engineer
20310,05574, 203100 Assistant Electrical Engineer
20710 Assistant Engineer (Accounting)
20617 Assistant Environmental Engineer

21910 Assistant Geologist

21310 Assistant Landscape Architect 20410, 204100 Assistant Mechanical Engineer

22010,1,2,3 **, 220100/10/20/30 Assistant Physicist (Including specialties)

22110,05524 Assistant Planner

22420,05561 Assistant Project Coordinator

22515 Assistant Project Development Coordinator *

22502 Assistant Project Manager

22516 Assistant Project Services Specialist *
21511 Assistant Scientist (Radiation Control) **
20311 Assistant Signal Circuit Engineer

80181 Assistant Space Analyst **

34210, 342100 Assistant Superintendent of Construction *

91355 Assistant Superintendent of Construction and Repairs

34208 Assistant Supervisor of Electrical Installations 34209 Assistant Supervisor of Mechanical Installations

22092 Assistant Urban Designer 22122 City Planner Level I

34202, 962510 Construction Project Manager Level I

03713,20121,22,23 Estimator (Incl. specialties)

22315 Highway Transportation Specialist Level I 22507 Housing Development Specialist Level I

90722, 907220

92242

Landmarks Preservation Specialist

92237

Solution Specialist

Landmarks Preservationist Level I

Medical Equipment Specialist

Project Manager (Other than HHC)

Project Manager (HHC only) Level I

Scientist (Radiation Control) Level I

21950 Senior Meteorologist 80184 Space Analyst Level I

34205 Supervisor of Electrical Installations & Maintenance Level I
34221 Supervisor of Mechanical Installations & Maintenance Level I

91670-2 Supervisor of Building Maintenance (All Fields)

92248 Urban Archeologist

Note: *For present incumbents only

^{***} This title was revised pursuant to HHC Personnel Order 09/03 effective April 16, 2009.

004LD 19/2

UNIT: ENGINEERING/SCIENTIFIC

CBU CODE: 004 UNION: DC 37

EFFECTIVE DATE: October 26, 2019 3%

LONGEVITY DIFFERENTIAL SCHEDULE **

	10/25/19	10/26/19
After 5 years	\$799	\$823
After 10 years	\$1,603	\$1,651
(additional)	(\$804)	(\$828)

TITLE

CODE TITLE

31315 Air Pollution Inspector Level II

20112,03782,09517 Assistant Engineering Technician (Incl. JOP) *
22305 Assistant Highway Transportation Specialist
31316 Associate Air Pollution Inspector Level I, II, III
20118,961710/20 Associate Engineering Technician All Levels

91416 Associate Graphic Artist *
71411 Cartographer (Civil Defense)
20505 Chemical Engineering Drafter *
22121 City Planning Technician
20205 Civil Engineering Drafter *

22117 Community Planning Board Coordinator
91603 Computer Facilities Maintainer (FISA)
001030 Construction Management Assistant
20305 Electrical Engineering Drafter *

20101 Engineering Aide

20113,961610,20,09933,03768 Engineering Technician (Incl. spec.) All Levels

09456 Engineering Technician Aide (JOP) 90971 Environmental Control Technician ***

81361 Forester 91415 Graphic Artist 91410, 914100 Illustrator *

91001 Instrumentation Specialist

21206, 212060 Junior Architect *
21805, 218050 Junior Chemist *
20206, 202060 Junior Civil Engineer *
20102 Junior Drafter *

20306, 203060 Junior Electrical Engineer *
22080, 220800 Junior Health Facilities Planner
20406, 204060 Junior Mechanical Engineer *

22005 Junior Physicist *

20405 Mechanical Engineering Drafter * 90690, 906900 Medical Equipment Repair Technician

32815 Painting Inspector

31360 Principal Air Pollution Inspector ***

91460,03818 Principal Illustrator *
31617,05609, 316170 Safety Officer
31310 Safety Specialist

31335 Senior Air Pollution Inspector ***

20114,20116,09518,03806 Sr. Engineering Technician (Incl. spec.) (JOP) *

004LD 19/3

UNIT: ENGINEERING/SCIENTIFIC

CBU CODE: 004 UNION: DC 37

EFFECTIVE DATE: October 26, 2019 3%

LONGEVITY DIFFERENTIAL SCHEDULE **

	<u> 10/25/19</u>	<u> 10/26/19</u>
After 5 years	\$799	\$823
After 10 years	\$1,603	\$1,651
(additional)	(\$804)	(\$828)

TITLE

<u>CODE</u> <u>TITLE</u>

90972 Senior Environmental Control Technician ***

33335 Senior Hull & Machinery Inspector

91435, 914350 Senior Illustrator

32835 Senior Painting Inspector 31735 Senior Traffic Control Inspector

34535 Senior Waterfront Construction Inspector 31355 Supervising Air Pollution Inspector ***

90973 Supervising Environmental Control Technician ***

33355 Supervising Hull & Machinery Inspector 31750 Supervising Traffic Control Inspector

31715 Traffic Control Inspector

22100 Urban Technician

34515 Waterfront Construction Inspector

NOTE:

* For present incumbents only

** In addition to the 15 year MCEA/DCEA LONGEVITY

*** To be deleted

LONGEVITY DIFFERENTIAL SCHEDULE **

	<u>10/25/19</u>	<u>10/26/19</u>
After 5 years	\$783	\$806
After 10 years	\$1,565	\$1,612
(additional)	(\$782)	(\$806)

TITLE

<u>CODE</u> <u>TITLE</u>

31312 Asbestos Hazard Investigator

31305 Industrial Hygienist

NOTE:

** In addition to the 15 year MCEA/DCEA LONGEVITY

CBU CODE: 004

UNION: LOCAL 375, DC 37 EFFECTIVE DATE: October 26, 2019 3%

LEVEL INCREASE

TITLE CODE 20610	TITLE Air Pollution Control Engineer Level II *Level III	10/25/19 \$2,617 \$2,833	10/26/19 \$2,696 \$2,918
21215, 16	Architect (incl. spec) Level IILevel III	\$2,617 \$2,833	\$2,696 \$2,918
06106	Architectural Specialist Level II	\$2,833	\$2,918
31316	Associate Air Pollution Inspector Level IILevel III	\$1,766 \$1,958	\$1,819 \$2,017
21822,963020/30	Associate Chemist Level IILevel IIILevel IV	\$2,013 \$2,398 \$2,398	\$2,073 \$2,470 \$2,470
22123	Associate City Planner Level II *	\$2,398	\$2,470
20118,961720	Associate Engineering Technician Level II	\$1,831	\$1,886
31662	Assoc Fire Protection Inspector Level IILevel III	\$1,573 \$1,958	\$1,620 \$2,017
22427	Associate Project Manager Level II	\$2,398	\$2,470
22124	Assoc Urban Designer Level IILevel III	\$2,398 \$2,521	\$2,470 \$2,597
20515	Chemical Engineer Level IILevel III	\$2,617 \$2,833	\$2,696 \$2,918
22122	City Planner Level IILevel IIILevel IV	\$2,013 \$2,398 \$2,398	\$2,073 \$2,470 \$2,470
21744	City Research Scientist Level IILevel III	\$2,521 \$2,521	\$2,597 \$2,597
20215-20	Civil Engineer (incl. spec.) Level IILevel III	\$2,617 \$2,833	\$2,696 \$2,918
34202, 962520/30	Construction Project ManagerLevel IILevel III	\$2,013 \$2,398	\$2,073 \$2,470
21849	CriminalistLevel IIILevel IV	\$1,767 \$1,767	\$1,820 \$1,820

CBU CODE: 004

UNION: LOCAL 375, DC 37 EFFECTIVE DATE: October 26, 2019 3%

LEVEL INCREASE

	ELVEE HORE/IOE		
TITLE			
CODE	<u>TITLE</u>	<u>10/25/19</u>	<u>10/26/19</u>
20315-20	Electrical Engineer (incl. spec.) Level II	\$2,617	\$2,696
	Level III	\$2,833	\$2,918
06019	Engineering Specialist Level II	\$2,833	\$2,918
20113***, 20114-5,	Engineering Technician Level II (Incl spec)	\$1,387	\$1,429
961620	Level III	\$1,640	\$1,689
	Level IV	\$1,831	\$1,886
20618	Environmental Engineer Level II	\$2,617	\$2,696
	Level III	\$2,833	\$2,918
22315	Highway Transportation Specialist Level II	\$2,013	\$2,073
	Level III	\$2,398	\$2,470
22507	Housing Development Specialist Level II	\$2,013	\$2,073
	Э	+ -,- · · ·	-
91001	Instrumentation Specialist IILevel III	\$1,640	\$1,689
	Levei III	\$1,831	\$1,886
92237	Landmarks Preservationist Level II	\$2,013	\$2,073
21315	Landscape Architect Level II	\$2,617	\$2,696
	Level III	\$2,833	\$2,918
20415-18	Mechanical Engineer (incl. spec.) Level II	\$2,617	\$2,696
	Level III	\$2,833	\$2,918
22015	Physicist Level II	\$2,013	\$2,073
22010	Level III	\$2,398	\$2,470
224270	Project Manager (HHC only) Level II **	¢2 200	¢2.470
224270	Project Manager (HHC only) Level II **	\$2,398	\$2,470
21755	Research Scientist Level II	\$2,521	\$2,597
	Level III	\$2,521	\$2,597
21516	Scientist (Radiation Control) Level II	\$2,013	\$2,073
	Level III	\$2,398	\$2,470
80184	Space Analyst Level II	\$2,013	\$2,073
34205	Sup. of Electrical Installations & Maintenance Level II	\$2,013	\$2,073
34221	Sup.of Mechanical Installations & Maintenance Level II	\$2,013	\$2,073
V722 I	Level III	\$2,398	\$2,073 \$2,470
	Level IV	\$2,398	\$2,470

NOTE:

004LI 19/3

UNIT: ENGINEERING/SCIENTIFIC

CBU CODE: 004

UNION: LOCAL 375, DC 37 EFFECTIVE DATE: October 26, 2019 3%

LEVEL INCREASE

TITLE

<u>CODE</u> <u>TITLE</u> <u>10/25/19</u> <u>10/26/19</u>

* To be deleted

** This title was revised pursuant to HHC Personnel Order 09/03 effective April 16, 2009.

*** This title was revised pursuant to DCAS Resolution #2012-18 dated June 13, 2012.

CBU CODE: 004 UNION: DC 37

EFFECTIVE DATE: OCTOBER 26, 2019 3%

FOR EMPLOYEES WHO HAD A PENSIONABLE SERVICE INCREMENT ON OR BEFORE 3/3/08****

SERVICE INCREMENT

	<u>10/25/19</u>	<u>10/26/19</u>
After 5 years	\$1,431	\$1,474
After 10 years	\$2,944	\$3,032
(additional)	(\$1,513)	(\$1,558)
After 15 years	\$4,457	\$4,591
(additional)	(\$1,513)	(\$1,559)

**** NOTE:

For these employees, the service increment was added to base salary when the 3/3/08 and 3/3/09 4% general wage increase were applied. The original service increment amount was then backed out, and the increase on the service increment remained in the base salary. As these employees had already received 8% on the service increment (which was added to base salary), they did not receive the 3/2/10 5.47% in addition to the 8%.

TITLE

CODE TITLE

21610 Air Pollution Control Engineer **

21215,16, 212150 Architect (all specialties) 06106 Architectural Specialist

91696 Assistant Area Manager of School Maintenance

22360 Assistant Coordinator of Highway Transportation Studies **
10086 Assistant Director of Technical Services (Air Pollution Control)
10088 Assistant Director of Technical Services (Emissions Inventory)

22081, 220810 Assistant Health Facilities Planner 22405 Assistant Planner Examiner

21010 Assistant Surveyor **

21822, 963010,20,30 Associate Chemist Level II, III, IV 22123 Associate City Planner Level I, II **

22508 Associate Housing Development Specialist 92238 Associate Landmarks Preservationist

80183 Associate Space Analyst **

22427 Associate Project Manager Level I, II, III 22124 Associate Urban Designer Level I, II, III

20130 Automotive Specialist Chemical Engineer

71435 Chemical, Biological and Radiological Officer (Civil Defense)

21815-21, 218150 Chemist(all specialties) *

34265 Chief Supervisor of Mechanical Installations

22122 City Planner Level II, III, IV 20215-20, 202150 Civil Engineer (all specialties)

21744 City Research Scientist Level II, III, IV-A, IV-B ***

34217, 342180 Construction Manager (all specialties) * 34202, 962520/30 Construction Project Manager Level II, III

^{*} For present incumbents only.

^{**} To be deleted.

^{***} Reclassified pursuant to DCAS Resolution (2008-5) dated August 6, 2008

CBU CODE: 004 UNION: DC 37

EFFECTIVE DATE: OCTOBER 26, 2019 3%

FOR EMPLOYEES WHO HAD A PENSIONABLE SERVICE INCREMENT ON OR BEFORE 3/3/08****

SERVICE INCREMENT

	<u>10/25/19</u>	<u>10/26/19</u>
After 5 years	\$1,431	\$1,474
After 10 years	\$2,944	\$3,032
(additional)	(\$1,513)	(\$1,558)
After 15 years	\$4,457	\$4,591
(additional)	(\$1,513)	(\$1,559)

**** NOTE:

For these employees, the service increment was added to base salary when the 3/3/08 and 3/3/09 4% general wage increase were applied. The original service increment amount was then backed out, and the increase on the service increment remained in the base salary. As these employees had already received 8% on the service increment (which was added to base salary), they did not receive the 3/2/10 5.47% in addition to the 8%.

TITLE

CODE TITLE
21849 Criminalist

22347 Director of Intersectional Traffic Control 20315-20, 203150 Electrical Engineer (incl specialties)

20715 Engineer (Accounting)
20915-9 Engineer - Assessor
06019 Engineer Specialist
20618 Environmental Engineer

34266,67, 342670 General Superintendent of Construction (incl specialties) *
91396 General Superintendent of Construction and Repairs
91673-5 General Supervisor of Building Maintenance (all fields)
91693-5 General Supervisor of School Maintenance (all fields)

21915 Geologist

22082, 220820 Health Facilities Planner

22315 Highway Transportation Specialist Level II, III 22507 Housing Development Specialist Level II 92237 Landmarks Preservationist Level II

21315 Landscape Architect

20415-8, 204150 Mechanical Engineer (incl specialties)

22015, 220150 Physicist Level II, III

22016-8 **, 220170/80 Physicist (Electronics, Isotopes, Radiation)

22410 Plan Examiner (Buildings)

22115 Planner

20620 Principal Air Pollution Control Engineer *

20550 Principal Chemical Engineer *
21835-7, 218350 Principal Chemist (all specialties) *
20250,60 Principal Civil Engineer (all specialties) *

20350 Principal Electrical Engineer *

^{*} For present incumbents only.

^{**} To be deleted.

^{***} Reclassified pursuant to DCAS Resolution (2008-5) dated August 6, 2008

CBU CODE: 004 UNION: DC 37

EFFECTIVE DATE: OCTOBER 26, 2019 3%

FOR EMPLOYEES WHO HAD A PENSIONABLE SERVICE INCREMENT ON OR BEFORE 3/3/08****

SERVICE INCREMENT

	<u>10/25/19</u>	<u>10/26/19</u>
After 5 years	\$1,431	\$1,474
After 10 years	\$2,944	\$3,032
(additional)	(\$1,513)	(\$1,558)
After 15 years	\$4,457	\$4,591
(additional)	(\$1,513)	(\$1,559)

**** NOTE:

For these employees, the service increment was added to base salary when the 3/3/08 and 3/3/09 4% general wage increase were applied. The original service increment amount was then backed out, and the increase on the service increment remained in the base salary. As these employees had already received 8% on the service increment (which was added to base salary), they did not receive the 3/2/10 5.47% in addition to the 8%.

TITLE

<u>CODE</u> <u>TITLE</u>

21130 Principal Engineer

20450 Principal Mechanical Engineer

22030 Principal Physicist ** 22130,03816 Principal Planner

217700 Principal Research Scientist (Biological Sciences) (HHC only)

22095 Principal Urban Designer 03718,22421 Project Coordinator

22525 Project Development Coordinator *
224270, 039710 ** Project Manager (HHC only) Level II

22526 Project Services Specialist *

91796 Railroad Signal Specialist Level I, II 21755 Research Scientist Levels I,II,III

21516 Scientist (Radiation Control) Level II, III

21538 Scientist (Water Ecology)

20615 Senior Air Pollution Control Engineer *
21225-6, 212250 Senior Architect (all specialties) *
20131 Senior Automotive Specialist
20525 Senior Chemical Engineer *
21825-31 Senior Chemist (all specialties)

20225-32, 202250 Senior Civil Engineer (all specialties) *
20325-29, 203250 Senior Electrical Engineer (all specialties) *

20725 Senior Engineer (Accounting)
20234 Senior Engineer (Cranes) *
20825 Senior Engineer (Safety) *
20920 Senior Engineer-Assessor *
20126-8 Senior Estimator (all specialties)

21925 Senior Geologist

^{*} For present incumbents only.

^{**} To be deleted.

^{***} Reclassified pursuant to DCAS Resolution (2008-5) dated August 6, 2008

CBU CODE: 004 UNION: DC 37

EFFECTIVE DATE: OCTOBER 26, 2019 3%

FOR EMPLOYEES WHO HAD A PENSIONABLE SERVICE INCREMENT ON OR BEFORE 3/3/08****

SERVICE INCREMENT

	<u>10/25/19</u>	<u>10/26/19</u>
After 5 years	\$1,431	\$1,474
After 10 years	\$2,944	\$3,032
(additional)	(\$1,513)	(\$1,558)
After 15 years	\$4,457	\$4,591
(additional)	(\$1,513)	(\$1,559)

**** NOTE:

For these employees, the service increment was added to base salary when the 3/3/08 and 3/3/09 4% general wage increase were applied. The original service increment amount was then backed out, and the increase on the service increment remained in the base salary. As these employees had already received 8% on the service increment (which was added to base salary), they did not receive the 3/2/10 5.47% in addition to the 8%.

TITLE

CODE TITLE

22083, 220830 Senior Health Facilities Planner

22325 Senior Highway Transportation Specialist **

20625 Senior Industrial Engineer 21325 Senior Landscape Architect *

20425-8, 204250 Senior Mechanical Engineer (all specialties)

22025-9 **, 220250/60/70 Senior Physicist (all specialties) 22411 Senior Plan Examiner (Buildings)

03801,22125 Senior Planner *

22422 Senior Project Coordinator

22530 Senior Project Development Coordinator *
22531 Senior Project Services Specialist *
21526 Senior Scientist (Radiation Control) **

34235 Senior Supervisor of Mechanical Installations

22094 Senior Urban Designer *
80184 Space Analyst Level II

34215, 342150 Superintendent of Construction *

91375 Superintendent of Construction and Repairs 91642 Supervisor of Diesel Engine Maintenance 34220 Supervisor of Electrical Installations 34216 Supervisor of Mechanical Installations

34205 Supervisor of Electrical Installations & Maintenance Level II
34221 Supervisor of Mech. Installations & Maintenance Level II, III, IV

21015 Surveyor

21015 Surveyor Level Ib

21006 Tax Map Cartographer Level Ib, II20238 Telemetric Systems Specialist

22093 Urban Designer *

^{*} For present incumbents only.

^{**} To be deleted.

^{***} Reclassified pursuant to DCAS Resolution (2008-5) dated August 6, 2008

CBU CODE: 004 UNION: DC 37

EFFECTIVE DATE: OCTOBER 26, 2019 3%

FOR EMPLOYEES WHOSE SERVICE INCREMENT BECAME PENSIONABLE AFTER 3/3/08

SERVICE INCREMENT

	10/25/19	<u>10/26/19</u>
After 5 years	\$1,509	\$1,554
After 10 years	\$3,104	\$3,197
(additional)	(\$1,595)	(\$1,643)
After 15 years	\$4,701	\$4,842
(additional)	(\$1,597)	(\$1,645)

TITLE

<u>CODE</u> <u>TITLE</u>

21610 Air Pollution Control Engineer **

21215,16, 212150 Architect (all specialties) O6106 Architectural Specialist

91696 Assistant Area Manager of School Maintenance

22360 Assistant Coordinator of Highway Transportation Studies **
10086 Assistant Director of Technical Services (Air Pollution Control)
10088 Assistant Director of Technical Services (Emissions Inventory)

22081, 220810 Assistant Health Facilities Planner
22405 Assistant Planner Examiner
24040 Assistant Surveyor **

21010 Assistant Surveyor **

21822, 963010,20,30 Associate Chemist Level II, III, IV 22123 Associate City Planner Level I, II **

22508 Associate Housing Development Specialist 92238 Associate Landmarks Preservationist

80183 Associate Space Analyst **

22427 Associate Project Manager Level I, II, III 22124 Associate Urban Designer Level I, II, III

20130 Automotive Specialist 20515 Chemical Engineer

71435 Chemical, Biological and Radiological Officer (Civil Defense)

21815-21, 218150 Chemist(all specialties) *

34265 Chief Supervisor of Mechanical Installations

22122 City Planner Level II, III, IV 20215-20, 202150 Civil Engineer (all specialties)

21744 City Research Scientist Level II, III, IV-A, IV-B ***

34217, 342180 Construction Manager (all specialties) * 34202, 962520/30 Construction Project Manager Level II, III

21849 Criminalist

22347 Director of Intersectional Traffic Control 20315-20, 203150 Electrical Engineer (incl specialties)

20715 Engineer (Accounting)
20915-9 Engineer - Assessor
06019 Engineer Specialist

^{*} For present incumbents only.

^{**} To be deleted.

^{***} Reclassified pursuant to DCAS Resolution (2008-5) dated August 6, 2008

CBU CODE: 004 UNION: DC 37

EFFECTIVE DATE: OCTOBER 26, 2019 3%

FOR EMPLOYEES WHOSE SERVICE INCREMENT BECAME PENSIONABLE AFTER 3/3/08

SERVICE INCREMENT

	10/25/19	10/26/19
After 5 years	\$1,509	\$1,554
After 10 years	\$3,104	\$3,197
(additional)	(\$1,595)	(\$1,643)
After 15 years	\$4,701	\$4,842
(additional)	(\$1.597)	(\$1.645)

TITLE

<u>CODE</u> <u>TITLE</u>

20618 Environmental Engineer

34266,67, 342670 General Superintendent of Construction (incl specialties) *
91396 General Superintendent of Construction and Repairs
91673-5 General Supervisor of Building Maintenance (all fields)
91693-5 General Supervisor of School Maintenance (all fields)

21915 Geologist

22082, 220820 Health Facilities Planner

Highway Transportation Specialist Level II, III
 Housing Development Specialist Level II
 Landmarks Preservationist Level II

21315 Landscape Architect

06753 Marine Electronics Technician

91574 Marine Electronics Technician (DOT) 91576 Marine Electronics Technician (DEP) 20415-8, 204150 Mechanical Engineer (incl specialties)

22015, 220150 Physicist Level II, III

22016-8 **, 220170/80 Physicist (Electronics, Isotopes, Radiation)

22410 Plan Examiner (Buildings)

22115 Planner

20620 Principal Air Pollution Control Engineer *

20550 Principal Chemical Engineer *
21835-7, 218350 Principal Chemist (all specialties) *
20250,60 Principal Civil Engineer (all specialties) *

20350 Principal Electrical Engineer *

21130 Principal Engineer

20450 Principal Mechanical Engineer

22030 Principal Physicist **
22130,03816 Principal Planner

217700 Principal Research Scientist (Biological Sciences) (HHC only)

22095 Principal Urban Designer 03718,22421 Project Coordinator

22525 Project Development Coordinator *
224270, 039710 ** Project Manager (HHC only) Level II

^{*} For present incumbents only.

^{**} To be deleted.

^{***} Reclassified pursuant to DCAS Resolution (2008-5) dated August 6, 2008

CBU CODE: 004 UNION: DC 37

EFFECTIVE DATE: OCTOBER 26, 2019 3%

FOR EMPLOYEES WHOSE SERVICE INCREMENT BECAME PENSIONABLE AFTER 3/3/08

SERVICE INCREMENT

	<u>10/25/19</u>	<u>10/26/19</u>
After 5 years	\$1,509	\$1,554
After 10 years	\$3,104	\$3,197
(additional)	(\$1,595)	(\$1,643)
After 15 years	\$4,701	\$4,842
(additional)	(\$1,597)	(\$1,645)

TITL	Ε
------	---

<u>CODE</u> <u>TITLE</u>

22526 Project Services Specialist *
91796 Railroad Signal Specialist Level I, II
21755 Research Scientist Levels I,II,III
21516 Scientist (Radiation Control) Level II, III

21538 Scientist (Water Ecology)

20615 Senior Air Pollution Control Engineer *
21225-6, 212250 Senior Architect (all specialties) *
20131 Senior Automotive Specialist
20525 Senior Chemical Engineer *
21825-31 Senior Chemist (all specialties)
20225-32, 202250 Senior Civil Engineer (all specialties) *
20325-29, 203250 Senior Electrical Engineer (all specialties) *

20725 Senior Engineer (Accounting)
20234 Senior Engineer (Cranes) *
20825 Senior Engineer (Safety) *
20920 Senior Engineer-Assessor *
20126-8 Senior Estimator (all specialties)

21925 Senior Geologist

22083, 220830 Senior Health Facilities Planner

22325 Senior Highway Transportation Specialist **

20625 Senior Industrial Engineer 21325 Senior Landscape Architect *

20425-8, 204250 Senior Mechanical Engineer (all specialties)

22025-9 **, 220250/60/70 Senior Physicist (all specialties) 22411 Senior Plan Examiner (Buildings)

03801,22125 Senior Planner *

22422 Senior Project Coordinator

22530 Senior Project Development Coordinator *
22531 Senior Project Services Specialist *
21526 Senior Scientist (Radiation Control) **

34235 Senior Supervisor of Mechanical Installations

22094 Senior Urban Designer *
80184 Space Analyst Level II

^{*} For present incumbents only.

^{**} To be deleted.

^{***} Reclassified pursuant to DCAS Resolution (2008-5) dated August 6, 2008

CBU CODE: 004 UNION: DC 37

EFFECTIVE DATE: OCTOBER 26, 2019 3%

FOR EMPLOYEES WHOSE SERVICE INCREMENT BECAME PENSIONABLE AFTER 3/3/08

SERVICE INCREMENT

	10/25/19	10/26/19
After 5 years	\$1,509	\$1,554
After 10 years	\$3,104	\$3,197
(additional)	(\$1,595)	(\$1,643)
After 15 years	\$4,701	\$4,842
(additional)	(\$1.597)	(\$1.645)

TITLE

<u>CODE</u> <u>TITLE</u>

34215, 342150 Superintendent of Construction *
91375 Superintendent of Construction and Repairs

91642 Supervisor of Diesel Engine Maintenance
34220 Supervisor of Electrical Installations
34216 Supervisor of Mechanical Installations

34205 Supervisor of Electrical Installations & Maintenance Level II
34221 Supervisor of Mech. Installations & Maintenance Level II, III, IV

21015 Surveyor

21015 Surveyor Level Ib

21006 Tax Map Cartographer Level Ib, II20238 Telemetric Systems Specialist

22093 Urban Designer *

^{*} For present incumbents only.

^{**} To be deleted.

^{***} Reclassified pursuant to DCAS Resolution (2008-5) dated August 6, 2008

004UA 19-1

UNIT: ENGINEERING/SCIENTIFIC

CBU CODE: 004 UNION: DC 37

EFFECTIVE DATE: OCTOBER 26, 2019 3%

UNIFORM ALLOWANCE *

TITLE CODE 22508	TITLE Assoc. Housing Development Spec.	10/25/19 \$103	10/26/19 \$106
22427	Associate Project Manager	\$103	\$106
34202	Construction Project Manager	\$103	\$106
22426	Project Manager (Other than HHC)	\$103	\$106
34205	Supvsr. of Elec. Installations & Maint.	\$103	\$106
34221	Supvsr. of Mech. Installations & Maint.	\$103	\$106

NOTE:

A Uniform Allowance in the pro-rata annual amout set forth above shall be provided to those employees of the Dept. of Housing Preservsation & Development who are assigned to the Office of Enforcement and Neighborhood Services in the following divisions: Housing Litigation Division (HLD); Special Enforcement Unit (SEU); Division of Maintenance (DOM); Alternative Enforcement Services; and Division of Neighborhood Preservation, and who are required to wear uniforms.

^{*} The parties agree that the Uniform Allowance payable in December 2019 shall be in the pro-rata amount of \$53.00.